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UTTAR PRADESH POWER CORPORATION LTD.

[Participant ID WWW.ALLEXAMREVIEW.COM
Participant Name

Test Center Name

Test Date 07/11/2023

Test Time 9:00 AM - 12:00 PM

Subject Technician Electrical

Section : Computer Knowledge - CCC Level of NIELIT

Q.1 Which of the following is NOT an operating system?
Ans " A. Microsoft Office

X B.iOS
X C. Ubuntu
#< D. Android

Question ID : 630680417703
Option 1 ID : 6306801629565
Option 2 1D : 6306801629563
Option 31D : 6306801629564
Option 4 1D : 6306801629566
Status : Answered
Chosen Option : A

Q.2 Which of the following statements is FALSE with respect to a QR code?
Ans X A.AQR code has more data storage capacity as compared to a barcode.

" B. QR code stands for Quick Result code.
/5 C. It holds the data or information horizontally and vertically.

& D.AQR code is a type of 2-D barcode that is often used to provide access to
information through a mobile phone.

Question ID : 630680417736
Option 11D : 6306801629698
Option 2 ID : 6306801629695
Option 3 1D : 6306801629696
Option 4 ID : 6306801629697
Status : Answered
Chosen Option : B
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Q.3 Identify the platform launched by the Government of India and developed by the
National Payments Corporation of India (NPCI) to facilitate access to banking services
from mobile phones, without a smartphone or data/internet connection.

Ans X A BHIM
< B. UMANG
X C.AEPS
& D. USSD

Question ID : 630680417739
Option 1 ID : 6306801629710
Option 2 ID : 6306801629707
Option 3 ID : 6306801629709
Option 4 ID : 6306801629708
Status : Not Answered
Chosen Option : --

Q.4 Which two parts separated by the symbol ‘@’ does an email address consist of?
Ans  # A. Username and domain name

< B. Username and company address
#< C. Name and country

#5 D. Name and location

Question ID : 630680417730
Option 1 ID : 6306801629673
Option 2 ID : 6306801629672
Option 3 ID : 6306801629671
Option 4 ID : 6306801629674
Status : Answered
Chosen Option : A

Q.5 What type of computer programming language are Java and Python?
Ans X A.Procedural programming language

+# B. High-level programming language
/X C. Low-level programming language

X D. Assembly programming language

Question ID : 630680417700
Option 1 ID : 6306801629554
Option 2ID : 6306801629552
Option 3 ID : 6306801629551
Option 4 ID : 6306801629553
Status : Answered
Chosen Option : B

Q.6 What is the full form of ‘UPI PIN'?

Ans  # A. Unified Payments Interface Personal Identification Number
X B. Unified Payments Internal Private Identification Number
75 C. Universal Payments Infrastructure Personal Identification Number

25 D. Universal Payments Interface Private Identification Number

Question ID : 630680417737
Option 1 ID : 6306801629701
Option 2 ID : 6306801629700
Option 3 ID : 6306801629702
Option 4 ID : 6306801629699
Status : Answered
Chosen Option : D
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Q.7 Which of the following is NOT an instant messaging software?
Ans @ A Twitter

/< B. Signal
X C. Telegram
X D. WhatsApp

Question ID : 630680417734
Option 1 ID : 6306801629690
Option 2 ID : 6306801629687
Option 3 ID : 6306801629688
Option 4 ID : 6306801629689
Status : Answered
Chosen Option : B

Q.8 Which of the following combinations of keys is used to select the entire text of a
document in MS-Word?

Ans X A.Ctrl+W
X B. Shift + Alt + W
75 C. Shift + Alt + A
& D.Ctrl + A

Question ID : 630680417711
Option 1 ID : 6306801629595
Option 2 ID : 6306801629598
Option 3 ID : 6306801629597
Option 4 ID : 6306801629596
Status : Answered
Chosen Option : D

Q.9 In an MS Excel spreadsheet, what do you represent by using a combination of letters
and numbers?

Ans 4 A Cell
X B.Row
X C. Block
2 D. Column

Question ID : 630680417714
Option 1 ID : 6306801629609
Option 21D : 6306801629607
Option 3 ID : 6306801629610
Option 4 ID : 6306801629608
Status : Answered
Chosen Option : A

Q.10 Identify the INCORRECT statement with respect to management of files and directories
in Windows.

Ans X A.To edit or rename a file or folder, press F2.
4 B. The shortcut to open a new window with the same folder is Ctrl + W.
< C. The shortcut to open the File Explorer window is to press the Windows key + E.

#< D. The shortcut to create a new folder in Windows is to press Ctrl + Shift + N.

Question ID : 630680417706
Option 1 ID : 6306801629578
Option 2 ID : 6306801629577
Option 3 ID : 6306801629576
Option 4 ID : 6306801629575
Status : Not Answered
Chosen Option : --
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Q.11 What is the approximate range of the size of cache memory?
Ans X A. Megabytes - gigabytes

/< B. Terabytes - petabytes
4 C. Kilobytes - megabytes
X D. Gigabytes - terabytes

Question ID : 630680417699
Option 1 ID : 6306801629548
Option 2 ID : 6306801629550
Option 3 ID : 6306801629547
Option 4 ID : 6306801629549
Status : Answered
Chosen Option: C

Q.12 Which of the following statements is correct?
Ans X A.SSDs are faster and less power efficient than HDDs.

< B. SSDs are slower and more power efficient than HDDs.
#< C. SSDs are slower and less power efficient than HDDs.

4 D. SSDs are faster and more power efficient than HDDs.

Question ID : 630680417695
Option 1 ID : 6306801629532
Option 2 ID : 6306801629534
Option 3 ID : 6306801629531
Option 4 ID : 6306801629533
Status : Not Answered
Chosen Option : --

Q.13 Which latest technology available in the market is smart homes an example of?
Ans X A. Blockchain technology

/< B. Data analytics
" C. Internet of things

75 D. Cloud computing

Question ID : 630680417740
Option 1 ID : 6306801629714
Option 2 ID : 6306801629713
Option 3 ID : 6306801629712
Option 4 ID : 6306801629711
Status : Answered
Chosen Option : D

Q.14 What is the extension of files created in MS PowerPoint?
Ans X A. .ixt

X B. .pdf

o C. .pptx
< D. .docx

Question ID : 630680417725
Option 1 ID : 6306801629654
Option 2 ID : 6306801629652

Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801629651
6306801629653
Answered

(o]
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Q.15 What is the main principle on which blockchain technology is based?
Ans " A. Decentralisation and cryptography

/< B. Centralisation and cryptography
X C. Cryptography
< D. Mutability

Question ID : 630680417744
Option 1 ID : 6306801629728
Option 2 ID : 6306801629727
Option 3 ID : 6306801629729
Option 4 ID : 6306801629730
Status : Not Answered
Chosen Option : --

Q.16 What is the main purpose of Telnet?

Ans X A.ltis a software that assigns a unique IP address to every system in a network.
4" B. Itis used to connect to a remote computer that is connected to the internet.
< C. Itis used to transfer or shift a file from one computer to another.

/X D. Itis a network of online discussion groups.

Question ID : 630680417721
Option 1 ID : 6306801629637
Option 2 ID : 6306801629636
Option 3 ID : 6306801629635
Option 4 ID : 6306801629638
Status : Answered
Chosen Option : B

Q.17 Which of the following online internet banking payment methods is primarily meant for
high-value transactions?

Ans X A NEFT
«" B.RTGS
% C.UPI
X D.IMPS

Question ID : 630680417738
Option 1 ID : 6306801629705
Option 2 ID : 6306801629706
Option 3 ID : 6306801629704
Option 4 ID : 6306801629703
Status : Answered
Chosen Option : B

Q.18 What of the following is NOT an application of IECT?
Ans X A.Running an effective governance system for people

4 B. Providing educational services to students
X C. Supplying government services and conducting communication transactions

/< D. Multimedia to improve the quality of a presentation by incorporating information
sharing and usage of graphics and animation

Question ID : 630680417701
Option 1 ID : 6306801629555
Option 2 ID : 6306801629558
Option 3 ID : 6306801629557
Option 4 ID : 6306801629556
Status : Answered
Chosen Option : D
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Q.19 Identify the correct statement(s) about an MS Excel worksheet, workbook and
spreadsheet.

i. A workbook is just a single-page data file that is generally created as a specific data
file.

ii. A worksheet is a bundle of workbooks wherein, generally, one or more than one
workbook is available.

iii. A spreadsheet is an entire program wherein the user can create a worksheet or
workbook.

Ans X A. Only (ii)
X B.Only (i)
" C. Only (iii)
¥ D. All of (i), (ii) and (iii)

Question ID : 630680417715
Option 1 ID : 6306801629612
Option 2 ID : 6306801629611
Option 3 ID : 6306801629613
Option 4 ID : 6306801629614
Status : Answered
Chosen Option: C
Q.20 What is the use of BCC in emails?
Ans X A. The recipients mentioned in BCC are visible to all the other recipients of the email.
/5 B. BCC gives the list of recipients of the email.
#< C. None of the options
4 D. Any recipients on the BCC line of an email.are not visible to other recipients of the
email.
Question ID : 630680417731
Option 1 ID : 6306801629676
Option 2 ID : 6306801629675
Option 3 ID : 6306801629678
Option 4 ID : 6306801629677
Status : Answered
Chosen Option : D
Q.21 Identify the INCORRECT way of generating the number series (1, 2, 3, 4, 5,6, 7, 8,9, 10)
in a column in MS-Excel.
Ans X A. =SEQUENCE (10)
X B.
Type | and 2 in the first cell and the next cell. respectively, and then, drag the cursor down to 10 cells.
X ¢. =ROW(A1) and then, drag the cursor down.
+ D. =COLUMN(AL1) and then, drag the cursor down.
Question ID : 630680417718
Option 1 ID : 6306801629624
Option 2 ID : 6306801629625
Option 3 ID : 6306801629623
Option 4 ID : 6306801629626
Status : Not Answered
Chosen Option : --
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Q.22 How can you insert a picture from your computer into your slide?
Ans X A.On the Design tab, in the Images group, click Pictures and then, click This Device.
#< B. On the Home tab, in the Drawing group, click Pictures and then, click This Device.

#5 C. Click where you want to insert the picture on the slide and then, right-click and select
Insert Picture from the options displayed.

«” D. On the Insert tab, in the Images group, click Pictures and then, click This Device.

Question ID : 630680417727
Option 1 ID : 6306801629662
Option 2 ID : 6306801629660
Option 3 ID : 6306801629659
Option 4 ID : 6306801629661
Status : Answered
Chosen Option : A

Q.23 The auto-tagging feature of Facebook is an application of
Ans X A natural language processing

< B. robotics
X C. the Internet of things

o D. artificial intelligence

Question ID : 630680417742
Option 1 ID : 6306801629719
Option 2 ID : 6306801629722
Option 3 ID : 6306801629720
Option 4 ID : 6306801629721
Status : Not Answered
Chosen Option : --

Q.24 In MS-Word, where can you find the options to autofit or resize the rows and columns
of a table?

Ans X A. Insert tab -> Cell size group -> Autofit/resize
X B. View tab -> Cell size group -> Autofit/resize
" C. Layout tab -> Cell size group -> Autofit/resize

25 D. Design tab -> Document formatting group -> Autofit/resize

Question ID : 630680417712
Option 1 ID : 6306801629599
Option 2 ID : 6306801629602
Option 3 ID : 6306801629600
Option 4 ID : 6306801629601
Status : Answered
Chosen Option: C

Q.25 To get the list of commands displayed, which of the following mouse actions is
performed?

Ans X A. Left-click
25 B. Drag and drop
" C. Right-click
< D. Scroll down

Question ID : 630680417705
Option 1 ID : 6306801629572
Option 2 ID : 6306801629571
Option 3 ID : 6306801629573
Option 4 ID : 6306801629574
Status : Answered
Chosen Option : C
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Q.26 What is the correct sequence of steps performed for saving a document in MS Word?

i. From the menu, select Save.

ii. Type the name of your document and click Save.

iii. Click File in the top left-hand corner of the screen.

iv. Start a new document in MS-Word and type your text.

v. The dialog box appears. Select the folder location where you want to save the
document.

Ans X A.v->iv->ii ->ii >
X Bliv->v->iii >0 >
X Ci->ii->ii->iv->v

o D.iv->iii->i->v->ii

Question ID : 630680417710
Option 1 ID : 6306801629594
Option 2 ID : 6306801629593
Option 3 ID : 6306801629591
Option 4 ID : 6306801629592
Status : Answered
Chosen Option : D

Q.27 Attackers attempt to trick users to click a link that will download a malware or direct
them to a dodgy website. What type of cyber-attack can this be?

Ans 4 A Phishing
/5 B. Man-in-the-middle attack
/< C. Denial-of-service attack

5 D. SQL injection attack

Question ID : 630680417743
Option 1 ID : 6306801629726
Option 2 ID : 6306801629723
Option 3 ID : 6306801629725
Option 4 ID : 6306801629724
Status : Not Answered
Chosen Option : --

Q.28 What is Bing?

Ans X A.ltis a web browser owned and operated by Google.
/< B. ltis a search engine owned and operated by Google.
4 C. Itis a search engine owned and operated by Microsoft.

/< D. Itis a web browser owned and operated by Microsoft.

Question ID : 630680417724
Option 1 ID : 6306801629647
Option 2 ID : 6306801629648
Option 3 ID : 6306801629649
Option 4 ID : 6306801629650
Status : Answered
Chosen Option: C
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Q.29 The is used for quick access to functions that are commonly used in a
program.

Ans o A toolbar
/< B. title bar
X C.menu bar
X D. status bar

Question ID : 630680417707
Option 1 ID : 6306801629580
Option 2 ID : 6306801629581
Option 3 ID : 6306801629579
Option 4 ID : 6306801629582
Status : Answered
Chosen Option : A
Q.30 What is the ‘UMANG’ app used for?
Ans X A. To provide a platform for farmers to help them sell agricultural produce
+# B. To provide individuals with access to a range of central, state and local government
services by using only a single platform
/< C. To provide high-quality education to students across all the universities and institutes
of higher education
< D. UMANG is a social networking app used for messaging.
Question ID : 630680417735
Option 1 ID : 6306801629692
Option 2 ID : 6306801629691
Option 3 ID : 6306801629693
Option 4 ID : 6306801629694
Status : Not Answered
Chosen Option : --
Q.31 Identify the INCORRECT statement with respect to Internet Service Providers (ISPs).
Ans  # A. Facebook is an example of ISP.
< B.An ISP is a company that provides individuals and organisations with access to the
internet and other related services.
< C. ISPs use fibre optics, satellites, copper wires and other forms to offer internet access
to its customers.
< D. Airtel is an example of ISP.
Question ID : 630680417722
Option 1 ID : 6306801629642
Option 2 ID : 6306801629641
Option 3 ID : 6306801629640
Option 4 ID : 6306801629639
Status : Answered
Chosen Option : A
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Q.32 Which of the following charts should you use to plot trends and changes in data over
time?

Ans X A.Bar chart
" B. Line chart
X C. Surface chart
X D. Pie chart

Question ID : 630680417717
Option 1 ID : 6306801629621
Option 2 ID : 6306801629620
Option 3 ID : 6306801629622
Option 4 ID : 6306801629619
Status : Answered
Chosen Option : B

Q.33 In Gmail, email messages can be categorised by using
Ans X A.spaces

< B. notes
«” C. labels
/< D. folders

Question ID : 630680417732
Option 1 ID : 6306801629679
Option 2 ID : 6306801629681
Option 3 ID : 6306801629680
Option 4 ID : 6306801629682
Status : Not Answered
Chosen Option : --

Q.34 Which of the following is the unit for measuring the speed of the internet?
Ans X A. Dpi

X B.Hertz
4 C. Bits per second
< D. Byte

Question ID : 630680417720
Option 1 ID : 6306801629631
Option 2 ID : 6306801629633
Option 3 ID : 6306801629634
Option 4 ID : 6306801629632
Status : Answered
Chosen Option: C

Q.35 Which of the following layouts is NOT available in MS PowerPoint?
Ans  «# A. Picture only

< B.Blank
< C. Title only

/5 D. Picture with Caption

Question ID : 630680417726
Option 1 ID : 6306801629658
Option 2 ID : 6306801629655
Option 3 ID : 6306801629656
Option 4 ID : 6306801629657
Status : Not Answered
Chosen Option : --
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Q.36 What is the meaning of system booting?
Ans X A. Switching on the computer

«” B. Loading an operating system into the computer’s main memory
< C. Initialising the computer memory

25 D. Loading an anti-virus into the computer system

Question ID : 630680417702
Option 1 ID : 6306801629562
Option 2 ID : 6306801629561
Option 3 ID : 6306801629560
Option 4 ID : 6306801629559
Status : Answered
Chosen Option : B
Q.37 Which of the following statements is FALSE about GUI?
Ans  «# A. Creating scripts using a GUI has become difficult with programming software.
< B. A GUI requires more system resources.
/< C. Users can interact with the software easily by using GUI.
< D. With GUI, different information can be simultaneously displayed on the screen.
Question ID : 630680417704
Option 1 ID : 6306801629568
Option 2 ID : 6306801629567
Option 3 ID : 6306801629569
Option 4 ID : 6306801629570
Status : Not Answered
Chosen Option : --
Q.38 Which of the following components was used for logic circuitry in the first generation
of computers?
Ans X A. Integrated circuits
X B. Registers
/X C. Transistors
4# D. Vacuum tubes
Question ID : 630680417696
Option 1 ID : 6306801629536
Option 2ID : 6306801629535
Option 3 ID : 6306801629537
Option 4 ID : 6306801629538
Status : Answered
Chosen Option : D
Q.39 What do you mean by handouts in MS PowerPoint?
Ans X A.The term ‘handout refers to the text and images inserted into an MS PowerPoint file.
#< B. Handouts are the designs that can help regulate the layout and formatting of a slide.
< C. Ahandout is a file that consists of readymade styles that can be easily used for a
presentation.
" D. Ahandout is a paper copy of presentation given to the audience to help them get a
clear overview of the main points.
Question ID : 630680417729
Option 1 ID : 6306801629670
Option 2 ID : 6306801629667
Option 3 ID : 6306801629669
Option 4 ID : 6306801629668
Status : Not Answered
Chosen Option : --
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Q.40 Which of the following is a valid function if you want to add values of the second row
from the third column to the sixth column?

Ans X A SADD(B3:B6)
« B. =SUM(C2:F2)
X c. =ADD(C2:F2)
X D. =SUM(B3:B6)

Question ID : 630680417716
Option 1 ID : 6306801629618
Option 2 ID : 6306801629615
Option 3 ID : 6306801629616
Option 4 ID : 6306801629617
Status : Answered
Chosen Option : B

Q.41 Which of the following statements is FALSE?

Ans X A. The Slide Master view is a special feature in MS-PowerPoint that allows you to
quickly modify slides and slide layouts in your presentation.

X B. The three master views are Slide Master, Handout Master and Notes Master.

¥ C. The easiest way to place the same graphic at the same place in all the slides is to
place that graphic in Notes Master:

< D. To select the master views, go to the View tab.

Question ID : 630680417728
Option 1 ID : 6306801629663
Option 2 ID : 6306801629664
Option 3 ID : 6306801629665
Option 4 ID : 6306801629666
Status : Answered
Chosen Option: C

Q.42 Which of the following statements is/are correct?

Statement I: Azure is a cloud-computing platform operated by Microsoft.
Statement Il: Azure is an example of a public cloud.

Ans X A. Only Statement Il is correct.
X B. Only Statement | is correct.
" C. Both the statements are correct.

#< D. Both the statements are incorrect.

Question ID : 630680417741
Option 1 ID : 6306801629717
Option 2 ID : 6306801629716
Option 3 ID : 6306801629715
Option 4 ID : 6306801629718
Status : Not Answered
Chosen Option : --
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Q.43 What are the four types of indentation provided in MS-Word?
Ans " A Firstline indent, hanging indent, right indent and left indent

#< B. Up indent, down indent, left indent and right indent
X C. First line indent, hanging indent, top indent and bottom indent

< D. Second line indent, paragraph indent, top indent and bottom indent

Question ID : 630680417709
Option 1 ID : 6306801629588
Option 2 ID : 6306801629587
Option 3 ID : 6306801629590
Option 4 ID : 6306801629589
Status : Not Answered
Chosen Option : --

Q.44 What is the main use of gutter margin in MS-Word?
Ans X A. It helps make a document look neat and professional.

< B. A gutter margin is used to provide a temporary, non-printing, straight edge.
< C. Itis used to describe how each page of your document will appear when it is printed.

+" D. It adds extra spaceto the side, top margin, or inside margins of a document you plan
to bind.

Question ID : 630680417713
Option 1 ID : 6306801629604
Option 2 ID : 6306801629603
Option 3 ID : 6306801629606
Option 4 ID : 6306801629605
Status : Answered
Chosen Option : D

Q.45 What is the correct definition of open-source software?

Ans X A.ltis atype of software that comes with an open-source license.
X B. ltis a type of software that is free for download and use.

4« C. Itis a type of software with a source code that anyone can inspect, use, modify and
improve.

< D. Itis a type of software with a source code that anyone can inspect and use but
cannot modify and share.

Question ID : 630680417697
Option 11D : 6306801629541
Option 2 ID : 6306801629539
Option 3 ID : 6306801629540
Option 4 ID : 6306801629542
Status : Answered
Chosen Option: C
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Q.46 What does ‘browse in incognito mode’ mean?
Ans X A It means to browse in a new, hidden window.
" B. It means that your browsing activity information is not saved to your device or to a
Google account that you are not signed in to.

/5 C. It means to add software programs that enable users to customise their browsing
experience.

X D. It means that your browsing activity information will be saved to the device.

Question ID : 630680417723
Option 1 ID : 6306801629644
Option 2 ID : 6306801629645
Option 3 ID : 6306801629643
Option 4 ID : 6306801629646
Status : Answered
Chosen Option : B

Q.47 Which of the following is NOT a netiquette?
Ans X A. Respect others’ privacy.

X B. Don’t spam.
" C. Mention your name-and address everywhere.

#< D. Review what you wrote and try to interpret it objectively.

Question ID : 630680417733
Option 1 ID : 6306801629685
Option 2 ID : 6306801629686
Option 3 ID : 6306801629684
Option 4 ID : 6306801629683
Status : Answered
Chosen Option: C

Q.48 In MS-Excel, what will happen if you type ‘=N7’ and press the Enter key?
Ans X A. The selected cell will be blank.

«# B. The selected cell will show the value that is contained in cell N7.
/< C. The selected cell will show an error #NAME?".
< D. The selected cell will show ‘=N7’.

Question ID : 630680417719
Option 1 ID : 6306801629629
Option 2 ID : 6306801629630
Option 3 ID : 6306801629627
Option 4 ID : 6306801629628
Status : Answered
Chosen Option : B

Q.49 Which of the following statements is FALSE with respect to the ribbon in MS-Word?

Ans X A.The ribbon is a user interface element that was introduced by Microsoft in MS Office
2007.

¥ B. The quick access toolbar is called ribbon.
#< C. The ribbon is a set of toolbars at the top of a window.

#< D. The ribbon is a command bar that organises features of a program into a series of
tabs at the top of a window.

Question ID : 630680417708
Option 1 ID : 6306801629586
Option 2 ID : 6306801629584
Option 3 ID : 6306801629583
Option 4 ID : 6306801629585
Status : Answered
Chosen Option : B
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Q.50 How many bits are represented in 8 bytes?
Ans X A. 32 bits

«” B. 64 bits
X C. 8 bits
X D. 24 bits
Question ID : 630680417698
Option 1 ID : 6306801629546
Option 2 ID : 6306801629545
Option 3 ID : 6306801629543
Option 4 ID : 6306801629544
Status : Answered
Chosen Option : B
Section : General Study & Logical Reasoning
Q.1 If*$7means “+, * # means **’, *%’ means *+’, and ‘@’ means *—’, then what will come in place of the question mark
(7) in the following equation?
67 @23S4%#77% 11="
Ans 7 A T
X B. 04
xXc 86
XD. 64
Question ID : 630680417764
Option 1 ID : 6306801629807
Option 2 ID : 6306801629810
Option 3 ID : 6306801629809
Option 4 ID : 6306801629808
Status : Answered
Chosen Option : A
Q.2  Select the option in which the words share the same relationship as that shared by the given pair of words.
Money : Poverty
Ans X A. Coins : Mint
X B. Paw : Cat
+ C. Education : Illiteracy
X D. Currency : Yen
Question ID : 630680417759
Option 1 ID : 6306801629790
Option 2 ID : 6306801629788
Option 3 ID : 6306801629787
Option 4 ID : 6306801629789
Status : Answered
Chosen Option: C
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Q.3 The 36th National Games were held in which state of India?
Ans X A. Haryana

/< B. Odisha
o C. Gujarat
< D. Manipur

Question ID : 630680417752
Option 1 ID : 6306801629760
Option 2 ID : 6306801629759
Option 3 ID : 6306801629762
Option 4 ID : 6306801629761
Status : Not Answered
Chosen Option : --

Q.4 ‘Pride, Prejudice and Punditry’ was written by .
Ans X A. Smriti Irani

4" B. Shashi Tharoor
#< C. Shobha Tharoor Srinivasan
/< D. S Jaishankar

Question ID : 630680417746
Option 1 ID : 6306801629736
Option 2 ID : 6306801629735
Option 3 ID : 6306801629737
Option 4 ID : 6306801629738
Status : Not Answered
Chosen Option : --

Q.5 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

GIMN : BEHI :: NJML : ?

Ans X A HEIG
X B. HIEJ
+ C. IEHG
X D. JFIH

Question ID : 630680417760
Option 1 ID : 6306801629792
Option 2 ID : 6306801629794
Option 3 ID : 6306801629793
Option 4 ID : 6306801629791
Status : Answered
Chosen Option : C
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Q.6 Which Article of the Constitution of India, 1950, caps the age of retirement for Supreme
Court judges at age 65?

Ans X A.Article 122
X B. Article 123
X C. Article 121

" D. Article 124

Question ID : 630680417754
Option 11D : 6306801629768
Option 2 ID : 6306801629769
Option 3 ID : 6306801629767
Option 4 ID : 6306801629770
Status : Not Answered
Chosen Option : --
Q.7 Sidi Goma is a group of African Indian Sidis from the who preserved and
carried on the tradition of Sidi music and dance adapted from African rituals.
Ans X A. Mokokchung district of Nagaland
25 B. North and middle Andaman
4" C. Bharuch district of Gujarat
#5 D. Kamrup district of Assam
Question ID : 630680417747
Option 1 ID : 6306801629740
Option 2 ID : 6306801629742
Option 3 ID : 6306801629739
Option 4 ID : 6306801629741
Status : Not Answered
Chosen Option : --
Q8  Study the following information carefully and answer the question that follows.
‘P (@ Q" means ‘P is the brother of Q.
P & Q° means ‘P is the father of Q.
‘P#Q means ‘Pis the sonof Q.
‘P % Q’ means ‘P is the mother of Q.
P S Q" means ‘P is the daughter of Q.
How is A related to E in the expression ‘A@ B% C#D&E @ F’?
Ans X A. Brother
+ B. Maternal uncle
X C. Maternal aunt
X D. Sister
Question ID : 630680417758
Option 11D : 6306801629784
Option 2 ID : 6306801629786
Option 3 ID : 6306801629783
Option 4 ID : 6306801629785
Status : Answered
Chosen Option : B
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Q.9 In November 2022, which bank in association with the National Payments Corporation
of India (NPCI), launched FIRSTAP - India’s first sticker-based debit card?

Ans o A. IDFC First Bank
X B.ICICI Bank
/X C. HDFC Bank
/5 D. Punjab and Sind Bank

Question ID : 630680417748
Option 1 ID : 6306801629744
Option 2 ID : 6306801629746
Option 3 ID : 6306801629745
Option 4 ID : 6306801629743
Status : Not Answered
Chosen Option : --

Q.10 international airport is located 2 km south of Port Blair and is the main airport
of the Andaman and Nicobar Islands of India.

Ans  «# A. Veer Savarkar International Airport
/< B. Agatti Aerodrome
#< C. Chandra Shekhar Azad airport
#< D. Donyi Polo Airport

Question ID : 630680417751
Option 1 ID : 6306801629758
Option 2 ID : 6306801629755
Option 3 ID : 6306801629757
Option 4 ID : 6306801629756
Status : Not Answered
Chosen Option : --

Q.11 Which Article of the Indian Constitution deals with equality of opportunity in matters of
public employment?

Ans X A. Article 27
«" B. Article 16
/< C. Article 22
/< D. Article 11

Question ID : 630680417753
Option 1 ID : 6306801629766
Option 2 ID : 6306801629764
Option 3 ID : 6306801629765
Option 4 ID : 6306801629763
Status : Not Answered
Chosen Option : --
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Q.12 Once completed the Zojila tunnel which is under construction will provide all-weather
connectivity between which two places?

Ans X A. Kargil and Khalsi
/< B. Leh and Gulmarg
+ C. Srinagar and Ladakh
X D. Jammu and Ladakh

Question ID : 630680417749
Option 1 ID : 6306801629750
Option 2 ID : 6306801629748
Option 3 ID : 6306801629747
Option 4 ID : 6306801629749
Status : Answered
Chosen Option : D

Q.13 Select the number from among the given options that can replace the question mark (?) in the following series.

737, 743,755,779, 827, 2
Ans A 023

X B. 9]3

X C. 933

X D. 903

Question ID : 630680417763
Option 1 ID : 6306801629804
Option 2 ID : 6306801629803
Option 3 ID : 6306801629806
Option 4 ID : 6306801629805
Status : Answered
Chosen Option : A

Q.14 Dudhsagar Falls in Goa is located on which river?
Ans X A. Saleririver

X B. Terekhol river
«” C. Mandovi river
25 D. Zuari river

Question ID : 630680417750
Option 1 ID : 6306801629751
Option 2 ID : 6306801629754
Option 3 ID : 6306801629752
Option 4 ID : 6306801629753
Status : Not Answered
Chosen Option : --
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Q.15 Select the number from among the given options that can replace the question mark (?) in the following series.

815, 8§10, 806, 803, 801, ?

Ans X A 799
X B. 801
X C. 798
' D. 800

Question ID : 630680417762
Option 11D : 6306801629799
Option 2 ID : 6306801629801
Option 3 ID : 6306801629800
Option 4 ID : 6306801629802
Status : Answered
Chosen Option : D

Q.16 FrfafeT Sl & eTmTEs HeTTw wt H#T e v w2 7 seaw &
HeTT W, S geliw aTw gl (symbols) % ®F # Feag AT T &

3w  |A|R|C |[L |[N |E |U [O (B |G

ET ¥I&IE (€ (# |8 @ |% [* |2

™~

o
1. 7l wgem Hk e o saw = E A @ FF TR 3R F FT TR Heas Rhar ST
2. ofg Tgen A Y S e e E, I a F # & w9 H geas B s

3. ofE TgeT MW vF e § AR A R U TR §, A S F AT MWW F FT @0 Heas
T S

4R MR TE R AR ARG R wm wm b e sk R amw S g e amw A
TS HTE|

'URBAN' & forw &/ar FT grem?

Ans @A HEOX@
X8 HA@E
X & @H
X 0. #¥&a@

Question ID : 630680417757
Option 11D : 6306801629781
Option 2 ID : 6306801629782
Option 3 ID : 6306801629779
Option 4 ID : 6306801629780
Status : Not Answered
Chosen Option : --
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Q.17 Select the term from among the given options that can replace the question mark (?) in the following series.

J175, 0166, S155, V142, X127, 7

Ans X A Z110
+B. Y110
XcC Y112
XD Z112

Question ID : 630680417756
Option 1 ID : 6306801629776
Option 2 ID : 6306801629778
Option 3 ID : 6306801629775
Option 4 ID : 6306801629777
Status : Answered
Chosen Option : B

Q.18 Select the combination of letters that when sequentially placed in the blanks of the given series will complete the series.

XK_F KW_XKW_XK_F

Ans X A XWEWE

« B. WXFFW

X C XWFFW

X D. WXFWF
Question ID : 630680417755
Option 1 ID : 6306801629774
Option 2 ID : 6306801629772
Option 3 ID : 6306801629773
Option 4 ID : 6306801629771

Status : Answered
Chosen Option : B
Q.19 The Islamic land tax with which the new rulers of India were familiar was , Which

was essentially a share in the produce of the land and not a rent on the land.
Ans X A. ghari and charai

/5 B. sondhar
< C. mahsul
o D. kharaj

Question ID : 630680417745
Option 1 ID : 6306801629734
Option 2 ID : 6306801629733
Option 3 ID : 6306801629732
Option 4 ID : 6306801629731
Status : Not Answered
Chosen Option : --
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Q.20 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one
that is different.

Ans A IGHF
X B YXWV
X ¢. NMLK
X b. TSRQ

Question ID : 630680417761
Option 1 ID : 6306801629796
Option 2 ID : 6306801629797
Option 3 ID : 6306801629795
Option 4 ID : 6306801629798
Status : Answered
Chosen Option : A

Section : General Hindi

Q1 G P e weg &-
Ans g A HET

X B.3@g

X C.Hel

X D.HE®

Question ID : 630680417774
Option 1 ID : 6306801629848
Option 2 ID : 6306801629847
Option 3 ID : 6306801629850
Option 4 ID : 6306801629849
Status : Answered
Chosen Option : B

Q2 Fqgegug HiIw wra B 2} A T T R-

Ans X A 3R Fedl ¢ [ FHH 9 Sad STeT|
X B. Id TeM T 8, 3@ IWIR §¢ g1 8T 8N
X C. &H AN 31! TTed &1l T Ry B R B
& D. 311 T 33 ot 9R fguie feua Sy

Question ID : 630680417767
Option 1 ID : 6306801629820
Option 2 ID : 6306801629821
Option 3 ID : 6306801629819
Option 4 ID : 6306801629822
Status : Answered
Chosen Option : B
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Q3 7Y FT yafaaTd e -

Ans X A vl
< B.GRA
X c.f=n
" D. gt
Question ID : 630680417772
Option 1 ID : 6306801629839
Option 2 ID : 6306801629840
Option 3 ID : 6306801629842
Option 4 ID : 6306801629841
Status : Answered
Chosen Option : C
Q4 I o1 vafa 3-
Ans X' A TG
X B. ™l
X C.au
o D. 3RTY

Question ID : 630680417773

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

6306801629846
6306801629844
6306801629845
6306801629843
Answered

Chosen Option : D

Q.5 3ifery gdaE & I frar ug & arew gof #3-

fewrea ® quf I
Ans X A BT
X B. B AR
X C.usd g
& D. BIdl BRTt
Question ID : 630680417768
Option 11D : 6306801629826
Option 2 ID : 6306801629824
Option 3 ID : 6306801629825
Option 4 ID : 6306801629823
Status : Answered
Chosen Option : B
Q.6 e fa=um 3t TP | Y5 T BT 994 Piforg-
Ans X A IgUCH 8 & TTY T BT SAMGRI Yabe giat Sart 3|
X B. SHMER Uehe g STUTh I &1 Igare g & 1 B
X C. T &1 3¢9 BH & WY SHFERT Udhe it et At
& D. T ©1 3gUIe- 8H & 1Y T SHFER] Yehe gl Sa|
Question ID : 630680417766
Option 1 1D : 6306801629818
Option 2 ID : 6306801629815
Option 3 ID : 6306801629817
Option 4 ID : 6306801629816
Status : Answered
Chosen Option : D
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Q.7 gy fa=um 3t T¥ | Y5 a1 BT 994 Piforg-

Ans X A TGP P g I 1=1 At g et
7 B. frat amem o §F8 deax B gor S|
X C. 3T TehR B g T fora-t = ot
o D. TR FTaT o o ST S &1 gall

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680417765

: 6306801629811
1 6306801629812
: 6306801629813
: 6306801629814
: Answered

:D

Q.8 I fa=iyor reg & are gof &3 -
A1 P TR A U Iaped gt o gl

Ans X A FH
X B. %
7 C. Thardt
& D. S

Question ID : 630680417769
Option 11D : 6306801629827
Option 2 ID : 6306801629830

Chosen Option :

Option 3 ID : 6306801629829
Option 4 ID : 6306801629828
Status : Answered
Chosen Option : D
Q9 g & I HI-H1 FeravT 3 37 F RgAfIa §-
Ans X A g U - g™ ol
o B. T ST USHI — AR ST
X C. g T ST — 1Y AT
X D. g & 3 AT — 3= fdd g
Question ID : 630680417771
Option 1 ID : 6306801629835
Option 2 ID : 6306801629838
Option 3 ID : 6306801629837
Option 4 ID : 6306801629836
Status : Answered
Chosen Option : B
Q.10 a1 TST HAT GeTax &1 4 8-
Ans g A ST ST AN
X B. IR I AT
X C.erar
X D. T
Question ID : 630680417770
Option 1 ID : 6306801629832
Option 2 ID : 6306801629834
Option 3 ID : 6306801629833
Option 4 ID : 6306801629831
Status : Not Answered
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Q.11
Ans

Comprehension:

fofafed Ter @ ergde ug SR Uy &1 3R il

YR AGSNROT o T =T IS A6 4 A f8 SMeyfe YRA &1 Wd el AT Udhed
3 31 3 THT YR TATST B S SR TRERT BT SIcaTer oT| Aoy Sfefayrat I wRT g
UT| UHT HRIET ST TN 3R YP TR AT IoTd | A I & 7 § Ured qRiAew
faaR-urraft & T T8 U1 SIR SR uT| Af% a8 U i Wad & i Faw uftnh Txsfa 3 &
YRAT THS BT T TRT AT WRIR TR d 918 ¥ & 3790 21 & anT fadssiia e 8l
QS T SATTY TUT R-ATRGT B} AT UFAST SR AT T & RIGid & WHR B
o1 3 gg v ared A for S H sy goliarel IR SRy fhT ST | 351 1809 W R H
St g qRaeh ThaRaTed! &I IURR feredt forad 3817 ores Saarsll & fayr & favg iR
THHRATE U B ad 3T 1814 T I Ml qur oR™Y | 39& gRT =y &0 J 3514
Tfcfget, Sifd 3 wexdr SR FRY® afifes Hii & Taa- 1 JIReR favry far| 3t yrom
fob T igRa Tl g eeeielt 3 webayTe @t e < et v A S o, fadiva) saw
fAfRd Siy-3men & awl & o fide i & SIR 387 R R faar 32 1820 & ‘Hi¥pw
ST S AT & YRad UBTIRIA $I ford 35 Y TR & Afad R e Ta=1 3T
FHBRI SEIRT Y 3 A BI BRI BT 3§ =1ed A b 91 wite $ I= Afde dew @l fEg
o o IR R 7T SITY | S UebR WIS 1 b1 HIAT YT fob = Tt HRd b HdhbTel IR 3iie
Heaw fdik Yg1 9w 3R 7 & ufdm 1 stergavur faar s

SubQuestion No : 11

1814 ® IS IR T A FE A | fHT IA1 B e B
X A 3 TE
X B,y WSt
X C. ST T
o D. ST T
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680417777
6306801629858
6306801629857
6306801629856
6306801629855
Answered

D
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Comprehension:

fofafad Te @ ergde ug SR Uy &1 SR il

YR AGSNROT o T =T IS IHHTE 4 3 f8 SMeyfe YRA &1 Wd el AT Udhed
3 31 3 THT YR THTS B S SR TRERT BT SIcarer o7l A Sfefayrat & wRT g
7| HT BRIET ST AT 3R YP GRIfed AT IoTa | A I & A § Ured qRiAw
faaR-urraf & T T8+ O SIR SR uT| Afe a8 U i e & i e ufteh Txsfa 3 &
YR THS BT T TRHT AT WRIR TR d 918 Y & 370 21 & anT fadssiia e 8k
QS T SATTY TUT R-ATRGT B} AT UFAST SR ATATSTS T & RiGid & WHR B
o1 3 gg v ared A fos T A sy geliarel IERT SRy fhT ST | 351 1809 H R H
St g qRaeh ThaRaTed! &I IURR feredt forad 381 oes Saarsll & fayr & favg iR
THHRATE U B ad U1 1814 T I Ml quT SR™Y | 39& gRT =y &0 J 3514
Tfcfget, Sifd 3 wexdr SR FRYI® 4fifes Hii & Taa- &1 JIReR favry far| 3t yrom 0
fob T e Tl g eefeielt 3 webayTe ot e < et v A 9 o, fadiva) saw
fAfRd siy-3men & awl o o fide wfed & SaR 387 | 9R faan| 32 1820 & ‘Hihpw
ST S AT & GRad UBTRIA $I fordd 35 Y TRMe & Afad SR e Ta=1 3T
FHBR] BB Y 3 I BI BRI BT J =1ed A b 91 wite F I= Afde dew @l fEg
o o IR R 7T STY | S UebR WIS 1 b1 HIAAT YT fob = Tt HRd o HdhTel IR 3iie
Heaw fdR Yg1 9w 3R 7 & ufdm 1 stergavur fasar s

SubQuestion No : 12
Q.12 Terimr § A g ° A T Hed 7Y AT s Sear-
Ans X A TS XA 4 7 R yHuiT BT srere Ry o b S Tahyare o

630680417780
6306801629868
6306801629870
6306801629869
6306801629867
Not Answered

IR IR B
< B. ST IHHIEH I & STUR 7 dl YRA & YddhTd R e Hadw 2R 381 9w = ufdmg &1
YT T STY |
o C. ST IS 1 BT AT 4T % e URdtg anfifes treoraft ofR e A gur T gr Y
$ar$ uf 3o o =R
2< D. IS IHHE I A YR FHTS! H IURYT HRITTA! DI TATK B 1 T o
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option : --
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Q.13
Ans

Comprehension:

fofafad Ter B ergde ug SR Uy 31 SR il

YR AGSNROT o T T IS A6 X4 3 f8 SMeyfer YRA &1 Wd el AT Udhed
I 31 3 THT YRTT THTST B S SR TRERT BT SIcaTer o7 Ao Sfefayray I 4RT g
UT| DT BRIET ST TN 3R YP GRIfed AT IoTd | A I & 7 H Ured qRifAw
faaR-urraft & T T8 O SIR SR uT| Af% a8 U8 i e & i e ufteh Txsfa 3 &
YR THS BT T TRHT AT WRIR TR d 918 Y & 3% 21 & @t fadssiia e 8k
SR A SUATY qUT R-ATRE! B HHAT UfgT SR Ao T b RSl 1 ©PR
o1 3 g W Ared A [ G F sy doftardl ST SiRH U STl 314 1809 H BRI |
St g qRaes ‘ThaRaTed! &I IuRR feredt forad 31 oes Saarsll & fayr & favg iR
THHRATE U B qd 3T 1814 T I 31l quT oR™Y 1| 39& gRT =y &0 J 351
Tfcfget, Sifd 3 wexdr SR FRYI® afifes Hit & Taae 1 JIReR favry far| 3t yrom
fo5 Tt vge Ul g et < wahsyre ot e €t e I A 4TS o, fasivas) Iad
AR ster-3me & aal &I 1t faass Wfdd & SIR T W AR fean| 3= 1820 H gy
ST S AT B YR UBTRIA BT ford 35 Y TMe F Afad SR e Ta=1 3T
FHDR] PEIRT Y 3 A BI BRI BT 9§ =1ed A b 91 wite & I= Afde dew @l fEg
o o IR R 7T SITY | S UebR WIS 1 b1 HIAAT YT fob =1 Tt HRd o HddhTel IR 3iie
Heaw fdRk Y81 9w 3R 7 & ufdm 1 stergaRur faar s

SubQuestion No : 13

TR 1 3Ifera e difdre-
o A. IS UGS I ARl & UG
X B. TSI M Tig I 3R enfifas A
X C. TS I W I 3R U WHR
X D. IS I Hig I : JAS GURS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

630680417779
6306801629863
6306801629866
6306801629865
6306801629864
Not Answered

Chosen Option : --
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Q.14
Ans

Comprehension:

fofafad Te @ ergde ug SR Uy BT SR il

YR AGSTROT o G =T IS A6 34 3 f8 SMeyfe YRA &1 Wd el AT Uhed
3 31 3 THT YRTT TATS B S SR TRERT BT SIcaTer o7l Ao Sfefayrat & wRT g
7| UHT HRIET ST TN 3R YP TR I IoTd | A I & A H U] qRiAw
faaR-urraft & Tfd T8 01 SIR SR uT| Af% a8 U i e & i Faw uftnh Txsfa 3 &
YR THS BT T TRT AT WRIR TR d 918 ¥ & 3% 21 & anT fadssiia = 8k
SR A SATY qUT R-ATRE! B HHAT UfgT SR Ao T b RSl 1 ©PR 3
o1 3 g W Ared A & G sy doftard! ST SiRH U STl 314 1809 H BRHAT |
St g Qe ‘ThaRaTed! &l IURR feredt forad 381 ores Saarsll & fay & favg iR
THHRATE U B ad U1 1814 T I My quT oR™Y &1 | 39& gRT =y &0 § 3514
Tfcfget, Sifd & wexdr SR FRY® afifes Hit & Taa- &1 SIReR faviy far| 3t yrom 0
fo5 ot vge Ul g et < wahsyre ot e €t e I A 4TS o, faRivas) Iad
fAfRd Siy-3men & awl & o fide wfed & SIR 387 R 9R faan 32 1820 & ‘Hi¥pw
ST S AT & YR UBTRIA BT ford 35 Y TRe F Afad SR e Ta=1 ST
FHDR] BB Y 3 I BI BRI BT 3§ =1ed A b 91 wite $ I= Afde dew @l fEg
o o IR R 7T STY | S UebR WIS 1 b1 HIAAT YT fob = Tt HRd o HdhTel IR 3iid
Heaw fik Yg1 9w 3R 7 & ufdm &1 stergaRur faar s

SubQuestion No : 14
ST TR I ¥ 0TS o & vy & et & e & erre #--
X A. IR g e & e 3R e Wew @l gewa faa
X B. 3% S yvf & IufRyd 3iy 3T & <l &1 favry o
X C. g TXHT B THGR] HeI-a] TR ITab! T Tat i
 D. 98 91 71e F Afde et gufad Sl $ars o & qer A g T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

630680417778
6306801629860
6306801629859
6306801629861
6306801629862
Not Answered

Chosen Option : --
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Comprehension:

fofafad Ter @ ergde ug SR Uy 31 3w il

e PR 28T 1T 3R 71 ) Ui &1 SfereRuT fpar S|
SubQuestion No : 15
Q.15 TS IHATE I B IHP THYRAledl B SUSR F Iy H 3 8-
Ans X A T TS B I 1809 H g3
X B. 39 X% | ggcddie oI farly fasar ma)
o C. 9 IS &I Xa1 i & &t i
X D. 39 UW® H UH4RAIE ! [GIRYRT &I Ugd fha

YR TGSNROT o G =T IS A6 4 A f8 SMeyfe YRA &1 Wd el AT Udhed
3 31 3 THT YRTT THTST B S SR TRERT BT SIcaTer o7l Ao Sfefayrat & wRT g
7| UHT BRIET S AT 3R YP QR T IoTd | A I & A § Ured qRiAw
faaR-urraft & T T8 O SIR SR uT| Af% a8 U i e & i aw ufteh Txsfa 3 &
YRAT THS BT T TG UT| TR TR d 918 ¥ & 3790 21 & anT fadssiia e 8k
QS T SHTTY TUT R-ATRGT B AT UFAST SR AT T & RIGid & WHR B
o1 3 gg v ared A for S H sy Yoliarel IR SRy fhT ST | 351 1809 H R H
ot g qRaes ‘ThaRaTed! &I IURR feredt forad 381 ore Saarsll & fayr & favg iR
THHRATE U B qd 301 1814 T I 3l qur SR™Y &I 39& gRT =y &0 J 3514
Tfcfget, Sifd 3 wexdr SR FRY® afifes Hait & Taa- 1 JIReR favry far| 3t yrom
fo5 ot vge Ul g et < wahsre ot e €t e I A 4TS o, faRivas) Iad
fAfRd siy-3men & awl & o fide wfad & SaR 387 R AR faan 36 1820 & H¥pw
ST S AT B YR UBTRIA BT ford 35 Y TRMe F Afad SR e Ta=1 ST
FHBRI BB Y 3 A BI BRI ST J d1ed A b 91 wite & I= Afde dew ol fEg
ot & TfRd o fordT Y| S YR IMHHIEH 9 &1 AFAT AT 76 9 O YR & Yadhld W 31

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

630680417776
6306801629853
6306801629852
6306801629854
6306801629851
Not Answered

Chosen Option : --

Q.1 Select the most appropriate preposition to fill in the blank.

Ramesh has been missing last month.
Ans X A.from

X B.of

X C.on
4" D. since

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417782
6306801629877
6306801629878
6306801629876
6306801629875
Answered

A
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Q.2 Select the grammatically correct sentence.

Ans X A. One of friends is my ability to listen of the reasons | could build such a network to
people.

" B. One of the reasons | could build such a network of friends is my ability to listen to
people.

/5 C. One network of friends is my ability to listen of the reasons | could build such a to
people.

#< D. One such a network of friends is of the reasons | could build my ability to listen to
people.

Question ID : 630680417789
Option 1 ID : 6306801629905
Option 2 ID : 6306801629903
Option 3 ID : 6306801629906
Option 4 ID : 6306801629904
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate ANTONYM of the underlined word.

Poisonous gases emitted from factories contaminate the air we breathe in.
Ans X A. Begrime

< B. Vitiate
< C. Sail
«# D. Sanctify

Question ID : 630680417785
Option 1 ID : 6306801629889
Option 2 ID : 6306801629888
Option 3 ID : 6306801629887
Option 4 ID : 6306801629890
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate adverb to fill in the blank.

The teacher said, “When you do something with intense enthusiasm, you do
it i
Ans X A.zealous

/5 B. jealously

" C. zealously

/5 D. jealous

Question ID : 630680417783
Option 1 ID : 6306801629882
Option 2 ID : 6306801629880
Option 3 ID : 6306801629879
Option 4 ID : 6306801629881
Status : Answered
Chosen Option : C
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Q.5 Select the most appropriate synonym of the underlined word.

Some of their customs are atrocious.
Ans X A.August

/5 B. Transcendent

" C. Fiendish
< D. Sublime
Question ID : 630680417786
Option 1 ID : 6306801629891
Option 2 ID : 6306801629893
Option 3 ID : 6306801629892
Option 4 ID : 6306801629894
Status : Not Answered
Chosen Option : --
Q.6 Select the option that has used the correct past tense.
Ans X A.Shan learn Marathi when he was four years old.
#< B. Shan learning Marathi when he was four years old.
4# C. Shan learnt Marathi when he was four years old.
#< D. Shan was learn Marathi when he was four years old.
Question ID : 630680417784
Option 1 ID : 6306801629883
Option 2 ID : 6306801629885
Option 3 ID : 6306801629886
Option 4 ID : 6306801629884
Status : Answered
Chosen Option: C
Q.7 Select the most appropriate option to fill in the blank and complete the given idiom.
Life is not a bed of
Ans X A.tulips
«” B. roses
< C. sunflowers
< D. thorns
Question ID : 630680417787
Option 1 ID : 6306801629896
Option 2 ID : 6306801629895
Option 3 ID : 6306801629897
Option 4 ID : 6306801629898
Status : Answered
Chosen Option : B
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Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

a. Between 60 and 100 million children are still at work instead of going to school, and
around 10 million are working in hazardous industries.

b. For many years now, the Governments have been promising the eradication of child
labour in hazardous industries in India.

c. India has the biggest child population of 380 million in the world; plus the largest
number of children who are forced to earn a living.

d.But the truth is that despite all the rhetoric no Government so far has succeeded in
eradicating this evil, nor has any been able to ensure compulsory primary education
for every Indian child.

Ans X A.dab,.c
«" B.bdac
X C.acdb
X D.cdab

Question ID : 630680417790
Option 1 ID : 6306801629910
Option 2 ID : 6306801629908
Option 3 ID : 6306801629907
Option 4 ID : 6306801629909
Status : Not Answered
Chosen Option : --

Q.9 Select the grammatically correct sentence.

Ans X A. Our company has won a major deal worth Rupees 600 lakh, the competition gnawing
at our heels but we can’t relax as many more deals are up for grabs, with.

#< B. Our company but we can’t relax as many more deals are up for grabs has won a
major deal worth Rupees 600 lakh, with the competition gnawing at our heels.

Z5 C. Our company has won, but we can't relax as many more deals are up for grabs, with
the competition gnawing at our heels a major deal worth Rupees 600 lakh.

" D. Our company has won a major deal worth Rupees 600 lakh, but we can’t relax as
many more deals are up for grabs, with the competition gnawing at.our heels.

Question ID : 630680417788
Option 11D : 6306801629900
Option 2 ID : 6306801629899
Option 3 ID : 6306801629902
Option 4 ID : 6306801629901
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate phrasal verb to fill in the blank.

Amit was by our strength of unity.
Ans  # A. taken aback

/X B. take aback
X C. taking aback
/< D. takes aback

Question ID : 630680417781
Option 11D : 6306801629872
Option 2 ID : 6306801629871
Option 3 ID : 6306801629874
Option 4 ID : 6306801629873
Status : Answered
Chosen Option : A
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Comprehension:
Read the given passage and answer the questions that follow.

Very often, we do not take the first step towards a good cause because we say to ourselves.
“The task is so big. What can | do alone?” So, nothing gets done. There is much talk about
environmental protections, air pollution and saving our forests. Do we really care? If we do,
here are a few things we can do to make our surroundings more pleasant.

It is good to adopt a two-uses-attitude! By putting an article to a second use, we are giving it a
longer lease of life and using up less raw material from nature. One of the worst things we do
is the abuse of paper. The clean sides of envelopes can be used to write small notes, lists
and reminders around the house. The more paper we use, the more trees will have to be cut
down. For the same reason, we should avoid the use of paper napkins or paper plates. Cloth
napkins are just as good, for they can be washed and used over and over again.

The one area which needs the most urgent attention is effective garbage disposal. People
who are conscious about it follow rules and laws strictly. As a result, their neighbourhoods are
clean and beautiful. A lot of people don’t care about the environment because they don’t
understand the adverse effect that society has on it. It is important to convince people to care
about the environment. The first step would be to convince people to change by providing
simple alternative solutions and ways of doing things. The internet is a powerful tool and a
group of like-minded people can be formed on social media. People can share environmental
stories and issues as well as pool in solutions and alternatives to educate one another. With
the current state that our planet is in, it is imperative that people actively care about the
environment and most importantly, act now.

SubQuestion No : 11
Q.11 Identify the tone of the given passage.
Ans X A.Respectful

/< B. Optimistic
" C. Motivating
/< D. Assertive

Question ID : 630680417794
Option 11D : 6306801629921
Option 2 ID : 6306801629919
Option 3 1D : 6306801629920
Option 4 ID : 6306801629922
Status : Not Answered
Chosen Option : --
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Comprehension:
Read the given passage and answer the questions that follow.

Very often, we do not take the first step towards a good cause because we say to ourselves.
“The task is so big. What can | do alone?” So, nothing gets done. There is much talk about
environmental protections, air pollution and saving our forests. Do we really care? If we do,
here are a few things we can do to make our surroundings more pleasant.

It is good to adopt a two-uses-attitude! By putting an article to a second use, we are giving it a
longer lease of life and using up less raw material from nature. One of the worst things we do
is the abuse of paper. The clean sides of envelopes can be used to write small notes, lists
and reminders around the house. The more paper we use, the more trees will have to be cut
down. For the same reason, we should avoid the use of paper napkins or paper plates. Cloth
napkins are just as good, for they can be washed and used over and over again.

The one area which needs the most urgent attention is effective garbage disposal. People
who are conscious about it follow rules and laws strictly. As a result, their neighbourhoods are
clean and beautiful. A lot of people don’t care about the environment because they don’t
understand the adverse effect that society has on it. It is important to convince people to care
about the environment. The first step would be to convince people to change by providing
simple alternative solutions and ways of doing things. The internet is a powerful tool and a
group of like-minded people can be formed on social media. People can share environmental
stories and issues as well as pool in solutions and alternatives to educate one another. With
the current state that our planet is in, it is imperative that people actively care about the
environment and most importantly, act now.

SubQuestion No : 12

Q.12 Which of the following sentences is INCORRECT as per the passage?

Ans " A. We should use paper napkins or paper plates. Cloth napkins are just as good, for
they can be washed and used over and over again.
/< B. By putting an article to a second use, we are giving it a longer lease of life and using
up less raw material from nature.

X C. There is much talk about environmental protection, air pollution and saving our
forests.

/< D. The internet is a powerful tool and a group of like-minded people can be formed on
social media.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417793
6306801629917
6306801629916
6306801629915
6306801629918
Not Answered
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Comprehension:
Read the given passage and answer the questions that follow.

Very often, we do not take the first step towards a good cause because we say to ourselves.
“The task is so big. What can | do alone?” So, nothing gets done. There is much talk about
environmental protections, air pollution and saving our forests. Do we really care? If we do,
here are a few things we can do to make our surroundings more pleasant.

It is good to adopt a two-uses-attitude! By putting an article to a second use, we are giving it a
longer lease of life and using up less raw material from nature. One of the worst things we do
is the abuse of paper. The clean sides of envelopes can be used to write small notes, lists
and reminders around the house. The more paper we use, the more trees will have to be cut
down. For the same reason, we should avoid the use of paper napkins or paper plates. Cloth
napkins are just as good, for they can be washed and used over and over again.

The one area which needs the most urgent attention is effective garbage disposal. People
who are conscious about it follow rules and laws strictly. As a result, their neighbourhoods are
clean and beautiful. A lot of people don’t care about the environment because they don’t
understand the adverse effect that society has on it. It is important to convince people to care
about the environment. The first step would be to convince people to change by providing
simple alternative solutions and ways of doing things. The internet is a powerful tool and a
group of like-minded people can be formed on social media. People can share environmental
stories and issues as well as pool in solutions and alternatives to educate one another. With
the current state that our planet is in, it is imperative that people actively care about the
environment and most importantly, act now.

SubQuestion No : 13
Q.13 Choose an appropriate title for the given passage.
Ans  # A. Towards A Cleaner-Environment

X B. Cleanliness
/% C. Plastic and Environment
#< D. The Environment of India

Question ID : 630680417792
Option 1 ID : 6306801629914
Option 2 ID : 6306801629912
Option 3 ID : 6306801629913
Option 4 ID : 6306801629911
Status : Not Answered
Chosen Option : --
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Comprehension:
Read the given passage and answer the questions that follow.

Very often, we do not take the first step towards a good cause because we say to ourselves.
“The task is so big. What can | do alone?” So, nothing gets done. There is much talk about
environmental protections, air pollution and saving our forests. Do we really care? If we do,
here are a few things we can do to make our surroundings more pleasant.

It is good to adopt a two-uses-attitude! By putting an article to a second use, we are giving it a
longer lease of life and using up less raw material from nature. One of the worst things we do
is the abuse of paper. The clean sides of envelopes can be used to write small notes, lists
and reminders around the house. The more paper we use, the more trees will have to be cut
down. For the same reason, we should avoid the use of paper napkins or paper plates. Cloth
napkins are just as good, for they can be washed and used over and over again.

The one area which needs the most urgent attention is effective garbage disposal. People
who are conscious about it follow rules and laws strictly. As a result, their neighbourhoods are
clean and beautiful. A lot of people don’t care about the environment because they don’t
understand the adverse effect that society has on it. It is important to convince people to care
about the environment. The first step would be to convince people to change by providing
simple alternative solutions and ways of doing things. The internet is a powerful tool and a
group of like-minded people can be formed on social media. People can share environmental
stories and issues as well as pool in solutions and alternatives to educate one another. With
the current state that our planet is in, it is imperative that people actively care about the
environment and most importantly, act now.

SubQuestion No : 14

Q.14 With reference to the passage which of the following options is the most appropriate
synonym of the underlined word?

People who are conscious about it follow rules and laws strictly.
Ans X A.Imprudent

& B. Mindful
< C. Inadvertent

< D. Impetuous

Question ID : 630680417796
Option 11D : 6306801629928
Option 2 ID : 6306801629930
Option 3 ID : 6306801629929
Option 4 ID : 6306801629927
Status : Not Answered
Chosen Option : --
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Comprehension:
Read the given passage and answer the questions that follow.

Very often, we do not take the first step towards a good cause because we say to ourselves.
“The task is so big. What can | do alone?” So, nothing gets done. There is much talk about
environmental protections, air pollution and saving our forests. Do we really care? If we do,
here are a few things we can do to make our surroundings more pleasant.

It is good to adopt a two-uses-attitude! By putting an article to a second use, we are giving it a
longer lease of life and using up less raw material from nature. One of the worst things we do
is the abuse of paper. The clean sides of envelopes can be used to write small notes, lists
and reminders around the house. The more paper we use, the more trees will have to be cut
down. For the same reason, we should avoid the use of paper napkins or paper plates. Cloth
napkins are just as good, for they can be washed and used over and over again.

The one area which needs the most urgent attention is effective garbage disposal. People
who are conscious about it follow rules and laws strictly. As a result, their neighbourhoods are
clean and beautiful. A lot of people don’t care about the environment because they don’t
understand the adverse effect that society has on it. It is important to convince people to care
about the environment. The first step would be to convince people to change by providing
simple alternative solutions and ways of doing things. The internet is a powerful tool and a
group of like-minded people can be formed on social media. People can share environmental
stories and issues as well as pool in solutions and alternatives to educate one another. With
the current state that our planet is in, it is imperative that people actively care about the
environment and most importantly, act now.

SubQuestion No : 15
Q.15 With reference to the given passage which of the following options is the most
appropriate ANTONYM of the underlined word?
The one area which needs the most urgent attention is effective garbage disposal.
Ans X A. Relegation

#< B. Removal
4 C. Fabrication
#< D. Relinquishment

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417795
6306801629925
6306801629924
6306801629923
6306801629926
Not Answered

Q.1 Which of the following types of resistor is currently the major format used for electronic components?
Ans & A Surface-mount resistor
X B. Carbon film resistor

X C. Metal-oxide film resistor

& D. Wire-wound resistor

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417871
6306801630229
6306801630227
6306801630228
6306801630230
Answered

B
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Q.2 T

AW
—

If CB and VB are conduction band and valance band, respectively, then the energy band diagram (at absolute zero
temperature) shown in the above image is that of a/an:

Ans XA insulator
+ B. conductor
X C. P-type semiconductor
X D. N-type semiconductor
Question ID : 630680417810
Option 1 ID : 6306801629983
Option 2 ID : 6306801629986
Option 3 ID : 6306801629984
Option 4 ID : 6306801629985
Status : Answered
Chosen Option : B
Q.3  As per the IE Rule 68, in case of an outdoor type sub-station, a metallic fencing of height NOT less than shall

be erected around the transformer.

Ans XA 1.5m
B 1.8m
KC 25m

XD 2m

Question ID : 630680417843
Option 1 ID : 6306801630115
Option 2 ID : 6306801630116
Option 3 ID : 6306801630118
Option 4 ID : 6306801630117
Status : Answered
Chosen Option: C

Q.4  Acapacitor of 10 uF is connected in series with another capacitor of 15 uF. What will be their effective capacitance?

Ans X A 5 ].IF

X B 7.5pF

X cC 25uF

«D. 6 UF
Question ID : 630680417865
Option 1 ID : 6306801630203
Option 2 ID : 6306801630205
Option 3 ID : 6306801630206
Option 4 ID : 6306801630204

Status : Answered
Chosen Option : D
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Q.5 Which of the following options is true about the starting torque and the starting current in case of slip ring
induction motors?

Ans

X A. Low starting torque and high starting current
X B. Low starting torque and low starting current
« C. High starting torque and low starting current

X D. High starting torque and high starting current

Question ID : 630680417925
Option 1 ID : 6306801630446
Option 2 ID : 6306801630445
Option 3 ID : 6306801630444
Option 4 ID : 6306801630443
Status : Answered
Chosen Option: C

Q.6 What will be the nomenclature used for a cable containing three insulated wires and a ground wire? Individual wires are
14-gauge.

Ans XA 14-1G
XB 14-2G
+C 14-3G
XD 144G

Question ID : 630680417832
Option 1 ID : 6306801630071
Option 2 ID : 6306801630072
Option 3 ID : 6306801630073
Option 4 ID : 6306801630074
Status : Answered
Chosen Option : C

Q.7 The flasher lamp used in a decorative lighting system makes and breaks the contact by using:

Ans s A a bimetallic strip

X B. relay contacts

X C. a leak transformer
#< D. a ballast

Question ID : 630680417946

Option 11D :
Option 2D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

6306801630529
6306801630527
6306801630528
6306801630530
Answered

A
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Q.8 Abulb consumes 0.9 A of current when supplied with 200 V. The bulb is kept switched on for 15 hours. Calculate the

work done.
Ans X' A 218 kWh
X B. 2.5kWh
¢ C. 2.7kWh
X D. 238 kWh
Question ID : 630680417825
Option 1 ID : 6306801630043
Option 2 ID : 6306801630045
Option 3 ID : 6306801630046
Option 4 ID : 6306801630044
Status : Answered
Chosen Option: C
Q.9 Identify whether the following statements are true or false regarding the function of the transformer oil.
Statement 1. It transfers the heat by convection. from the winding and the core to cooling surfaces.
Statement 2. It maintains the insulation of the winding and also, extinguishes fire that occurs due to faults occurring in
windings.
Ans A Both the statements are true.
X B. Both the statements are false.
X C. Only statement 2 is true.
X D. Only statement 1 is true.
Question ID : 630680417826
Option 1 ID : 6306801630047
Option 2 ID : 6306801630048
Option 3 ID : 6306801630050
Option 4 ID : 6306801630049
Status : Answered
Chosen Option : A
Q10 The centrifugal switch is provided with the:
Ans X A
capacitor starter and capacitor-start and capacitor-run motors
+ B. capacitor starter and shaded pole induction motors
X C. capacitor-start and capacitor-run motors only
X D.
shaded pole induction motors and capacitor-start and capacitor-run motors
Question ID : 630680417924
Option 1 ID : 6306801630440
Option 2 ID : 6306801630439
Option 3 ID : 6306801630442
Option 4 ID : 6306801630441
Status : Answered
Chosen Option : A
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Q.11 A current of 20 A flows through a resistance of 25 Q. Calculate the power (in kW) consumed.
Ans @A 10 kW

X B. 0.5 kW

XC 125kW

XD 1 kW

Question ID : 630680417819
Option 11D : 6306801630021
Option 2 ID : 6306801630019
Option 3 ID : 6306801630022
Option 4 ID : 6306801630020
Status : Answered
Chosen Option : A

Q.12

The above symbol represents a:
Ans X A dual-ganged capacitor
X B. buttertfly capacitor
+ C. differential capacitor

X D. split stator capacitor

Question ID : 630680417869
Option 1 ID : 6306801630221
Option 2 ID : 6306801630219
Option 3 ID : 6306801630220
Option 4 ID : 6306801630222
Status : Not Answered
Chosen Option : --

Q.13 Which of the following variable resistors is suitable to be used as an over-voltage protection device?

Ans X A Light-dependent resistor
« B. Metal-oxide varistor (MOV)

& C. Thermistor

# D. Photoresistor

Question ID : 630680417870
Option 1 ID : 6306801630226
Option 2 ID : 6306801630225
Option 3 ID : 6306801630223
Option 4 ID : 6306801630224
Status : Answered
Chosen Option: C
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Q14 1 the permanent split capacitor motor, the capacitor is connected:
Ans X A in parallel to the main winding
X B. in series with the main winding
X C. in parallel to the starting winding

+ D. in series with the starting winding

Question ID : 630680417923
Option 1 ID : 6306801630437
Option 2 ID : 6306801630435
Option 3 ID : 6306801630438
Option 4 ID : 6306801630436
Status : Answered
Chosen Option : D

Q15 The positive plate of a nickel-cadmium cell is made of:

Ans X A a nickel steel strip with fine perforation
X B. nickel-chromium steel
X C. nickel-plated steel
+ D. nickel hydroxide
Question ID : 630680417857
Option 1 ID : 6306801630174
Option 2 ID : 6306801630171
Option 3 ID : 6306801630172
Option 4 ID : 6306801630173
Status : Answered
Chosen Option: C
Q.16 R FT‘
[ Field N e
x
Transformer
What type of lightning arrester is shown in the above image?
Ans

+ A. Horn gap arrester

X B. Electrolytic arrester

X C. Impulse protective gap
X D. Sphere gap arrester

Question ID : 630680417934
Option 1 ID : 6306801630481
Option 2 ID : 6306801630482
Option 3 ID : 6306801630480
Option 4 ID : 6306801630479
Status : Answered
Chosen Option : A
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Q17 The load on a DC power supply is always:

Ans X A inductive
X B. greater of inductive reactance and capacitive reactance
+ C. resistive

X D. capacitive

Question ID : 630680417896
Option 1 1D : 6306801630327
Option 2 ID : 6306801630329
Option 3 ID : 6306801630330
Option 4 ID : 6306801630328
Status : Answered
Chosen Option: C
Q18 YWhat should be the level of the electrolyte in cells?
Ans X A 5to 10 mm above the plates
X B. 1 to 3 mm above the plates
X C. 3 to 5 mm above the plates
« D. 10 to 15 mm above the plates
Question ID : 630680417856
Option 1 1D : 6306801630169
Option 2 ID : 6306801630167
Option 3 ID : 6306801630168
Option 4 1D : 6306801630170
Status : Answered
Chosen Option : D
Q19 The current gain in case of a common-base bipolar junction transistor is:
Ans X A [3
B
1
X C. ﬁ_?
1
XD
a
Question ID : 630680417939
Option 1 1D : 6306801630500
Option 2 ID : 6306801630499
Option 3 ID : 6306801630502
Option 4 1D : 6306801630501
Status : Answered
Chosen Option : B

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/16994380296565834/2. ..

43/89



11/23/23, 2:23 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/1699438029. ..

Q.20

44

Find the value of ‘I’ shown in the above diagram.

Ans XA 1A
¥B 4A
XC 3A
XD 2A
Question ID : 630680417838
Option 1 ID : 6306801630095
Option 2 ID : 6306801630098
Option 3 ID : 6306801630097
Option 4 ID : 6306801630096
Status : Answered
Chosen Option : B
Q.21 Plate electrodes shall be buried in such a way that their top edge is at a depth of NOT less than from the surface

of the ground.

Ans XA 1.0m
X B 0.75m
+C 1l5m
XD 125m

Question ID : 630680417894
Option 1 ID : 6306801630320
Option 2 ID : 6306801630319
Option 3 ID : 6306801630322
Option 4 ID : 6306801630321
Status : Answered
Chosen Option: C

Q.22 Which of the following methods is used for measurement of high resistance values
(resistance values of more than 100 kQ)?

Ans A Direct deflection method
X B. Ammeter-voltmeter method
X C. Wheatstone bridge method

& D. Substitution method

Question ID : 630680417875

Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

6306801630244
6306801630243
6306801630246
6306801630245
Answered

A
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Q23 WWhich of the following is a diamagnetic material?

Ans X A Siderite
X B. Pyrite
X C. Biotite
+ D. Calcite

Question ID : 630680417859
Option 1 ID : 6306801630182
Option 2 ID : 6306801630181
Option 3 ID : 6306801630179
Option 4 ID : 6306801630180
Status : Not Answered
Chosen Option : --

Q24 YWhat are the main defects in simple voltaic cells?

Ans X A Sedimentation and polarisation

« B. Polarisation and local action
X C. Local action and buckling

X D. Buckling and sedimentation

Question ID : 630680417853
Option 1 ID : 6306801630156
Option 2 ID : 6306801630157
Option 3 ID : 6306801630158
Option 4 ID : 6306801630155
Status : Answered
Chosen Option : B

Q.25 Three resistances of 6 Q2 each are connected in series. Find their resultant resistance.

Ans @A 18Q
XB 6Q
XC20Q
XD 120

Question ID : 630680417815

Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801630006
6306801630004
6306801630003
6306801630005
Answered

A
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Q.26 The colours of a 4-band colour resistor are green, violet, yellow and gold as shown in the figure below. Calculate the
maximum value of the resistance.

10 [

Ans X A 570 kQ
X B. 627 kQ2
¥ C. 598.5kQ
X'D. 581.4kQ

Question ID : 630680417867
Option 1 ID : 6306801630211
Option 2 ID : 6306801630214
Option 3 ID : 6306801630213
Option 4 ID : 6306801630212
Status : Answered
Chosen Option: C

Q27 1dentify the countersink bit from among the images shown below.

Ans o =

Question ID : 630680417807
Option 1 ID : 6306801629971
Option 2 ID : 6306801629974
Option 3 ID : 6306801629973
Option 4 ID : 6306801629972
Status : Not Answered
Chosen Option : --

Q.28 As per the IE Rule 79, what should be the vertical and horizontal clearance of low- and medium-voltage lines
from a building?

Ans 5 A Vertical clearance = 2.5 m. Horizontal clearance = 2.0 m

X B. Vertical clearance = 1.5 m, Horizontal clearance =12 m
X C. Vertical clearance = 2.0 m. Horizontal clearance = 1.5 m

" D. Vertical clearance = 2.5 m. Horizontal clearance=1.2m

Question ID : 630680417844
Option 11D : 6306801630122
Option 2 ID : 6306801630119

Option 3 ID
Option 4 ID :
Status :

Chosen Option :

1 6306801630120

6306801630121
Answered
D
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Q.29 Which of the following insulators is used in heating elements of an electric iron?

Ans X A Shellac
X B. Tapes
+ C. Mica
X D. sjlk

Question ID : 630680417829
Option 1 ID : 6306801630060
Option 2 ID : 6306801630061
Option 3 ID : 6306801630062
Option 4 ID : 6306801630059
Status : Answered
Chosen Option : C

Q.30 Which of the following statements is FALSE about Light Emitting Diodes (LEDs)?
Ans X A LEDs last much longer.

X B. LEDs require less current to glow.

X C. LEDs are always cool.

' D.
LEDs cannot be switched ON and OFF at a much faster rate.

Question ID : 630680417919
Option 1 ID : 6306801630421
Option 2 ID : 6306801630419
Option 3 ID : 6306801630420
Option 4 ID : 6306801630422
Status : Answered
Chosen Option : D

Q.31 Which of the following is NOT an approved property of the material of a spring, which is utilised for spring control in
electrical measuring instruments?

Ans X A. Non-magnetism

« B. Low resistance to fatigue
X C. Low temperature coefficient

X D. Low specific resistance

Question ID : 630680417845

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801630123
6306801630126
6306801630124
6306801630125
Answered

B
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Q.32

An electrical cable is labelled with ‘XHHN". What does ‘X" denote?

Chosen Option :

Ans X A The wire is suitable for both dry and wet conditions.
X B.
The insulation is made of Bakelite that is highly heat resistant.
' C.
The insulation is made of a synthetic polymer that is flame retardant.
X D. The wire is suitable for drv conditions only.
Question ID : 630680417833
Option 11D : 6306801630076
Option 2 ID : 6306801630077
Option 3 ID : 6306801630078
Option 4 ID : 6306801630075
Status : Answered
Chosen Option : C
Q33 YWhich of the following is a solder wire filled with flux?
Ans X A Flux solder wire
+ B. Cored solder wire
X C. Mixed solder wire
X D. Bunched solder wire
Question ID : 630680417830
Option 11D : 6306801630066
Option 2 ID : 6306801630064
Option 3 ID : 6306801630065
Option 4 ID : 6306801630063
Status : Answered
Chosen Option : A
Q34 Type NM-B wires are normally used for the:
Ans X A service line
+ B. In-house wiring
X C. main feeder
X D. panel feed
Question ID : 630680417834
Option 11D : 6306801630079
Option 2 ID : 6306801630082
Option 3 ID : 6306801630080
Option 4 ID : 6306801630081
Status : Not Answered
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Q.35 If the spacing between transmission conductors is made very large as compared to their diameters, the chances of the
corona effect will:

Ans A decrease

X B. increase greatly
X C. increase slightly

X D. not change

Question ID : 630680417933
Option 1 ID : 6306801630476
Option 2 ID : 6306801630478
Option 3 ID : 6306801630477
Option 4 ID : 6306801630475
Status : Answered
Chosen Option : A

Q.36 Which of the following methods is a modification of the simple Wheatstone bridge method and is used to measure very
low resistances?

Ans X A Maxwell’s bridge method
X B. Carey Foster bridge method
« C. Kelvin’s double bridge method

X D. Potentiometer method

Question ID : 630680417874
Option 1 ID : 6306801630241
Option 2 ID : 6306801630239
Option 3 ID : 6306801630240
Option 4 ID : 6306801630242
Status : Answered
Chosen Option : C

Q.37 A pump driven by a single-phase AC motor of 240 V, 50 Hz has to deliver 1000 litres to a height of 45 m within 15
minutes. Find the power of the motor if the efficiency of the motor is 66%.

Ans A 2 hp
X8 1.5hp
«C 1hp
X D. 0.75 hp

Question ID : 630680417880
Option 1 ID : 6306801630266
Option 2 ID : 6306801630265
Option 3 ID : 6306801630264
Option 4 ID : 6306801630263
Status : Answered
Chosen Option: C
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Ans A Tts burning position is not critical.

X B. Its efficiency is around 160 Lumen/Watt.

X c. It provides yellowish light.

X D.
It possesses one main electrode and one auxiliary electrode.

Q.38 WWhich of the following statements is true about the mercury vapour lamp?

Question ID : 630680417917
Option 11D : 6306801630414
Option 2 ID : 6306801630413
Option 3 ID : 6306801630411
Option 4 ID : 6306801630412
Status : Answered
Chosen Option : D
Q.39 The difference between an integrated CFL and a non-integrated CFL is the position of the:
Ans X A powder
X B. transformer
+ C. ballast
X D. burner
Question ID : 630680417918
Option 11D : 6306801630417
Option 2 ID : 6306801630418
Option 3 ID : 6306801630415
Option 4 ID : 6306801630416
Status : Answered
Chosen Option : B
Q.40 What will be the reactance of a capacitor of 1 uF if the frequency is higher than 10 kHz?
Ans XA 6820
+B. 15920
XcC 320
XD 10.2Q
Question ID : 630680417864
Option 1 ID : 6306801630200
Option 2 ID : 6306801630202
Option 3 ID : 6306801630199
Option 4 ID : 6306801630201
Status : Answered
Chosen Option : B
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Q41 Which of the following is NOT a digital voltmeter?
Ans A Rheostat type digital voltmeter

X B. Integrating type voltmeter

X ¢. Ramp type digital voltmeter

X D. Potentiometric type digital voltmeter

Question ID : 630680417847
Option 1 ID : 6306801630134
Option 2 ID : 6306801630131
Option 3 ID : 6306801630133
Option 4 ID : 6306801630132
Status : Not Answered
Chosen Option : --
Q.42
[ ]
The above symbol represents a:
Ans X A distribution fuse-board without switches
+ B. distribution fuse-board with switches
X C. main fuse-board without switches
X D. main fuse-board with switches
Question ID : 630680417929
Option 1 ID : 6306801630461
Option 2 ID : 6306801630462
Option 3 ID : 6306801630459
Option 4 ID : 6306801630460
Status : Answered
Chosen Option : B
Q.43 Which of the following gauges can be used for measuring and inspecting angles from 0° to 180°?
Ans X A Mortise gauge
X B. Marking gauge
« C. Bevel gauge
X D. Cutting gauge
Question ID : 630680417804
Option 1 ID : 6306801629962
Option 2 ID : 6306801629961
Option 3 ID : 6306801629959
Option 4 ID : 6306801629960
Status : Answered
Chosen Option : C
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Ans

X A Calcium tungstate
X B. Magnesium beryllium

X C. Cadmium borate

« D. Zinc silicate

Q.44 Which of the following is the basic powder used in a neon sign lamp to impart green colour?

Question ID : 630680417916
Option 1 ID : 6306801630408
Option 2 ID : 6306801630409
Option 3 ID : 6306801630407
Option 4 ID : 6306801630410
Status : Answered
Chosen Option : D
Q.45 Which of the following switches is a four-terminal device capable of making or breaking two connections
from two positions?
Ans o A Intermediate switch
X B. Iron-clad double-pole switch
X C. Pull or ceiling switch
X D. Double-pole switch
Question ID : 630680417842
Option 11D : 6306801630111
Option 2 ID : 6306801630113
Option 3 ID : 6306801630114
Option 4 ID : 6306801630112
Status : Answered
Chosen Option : A
Q.46
Identify the component marked as “X" shown in the above figure of a transformer.
Ans A Silica gel breather
X B. Temperature gauge
X . Explosion vent
X D. Oil gauge
Question ID : 630680417906
Option 1 ID : 6306801630369
Option 2 ID : 6306801630370
Option 3 ID : 6306801630367
Option 4 ID : 6306801630368
Status : Answered
Chosen Option : A
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Ans

X A. mandatory signal
X B. warning signal
« C. prohibition signal

X D. emergency signal

Q.47 Around-shaped sign with a black image on a white background with red edging and a red diagonal line is a/an:

Question ID : 630680417800
Option 1 ID : 6306801629944
Option 2 ID : 6306801629946
Option 3 ID : 6306801629945
Option 4 ID : 6306801629943
Status : Answered
Chosen Option: C
Q.48 Inan automatic electric iron, the transfer of heat from the heating element within to the material being ironed is carried
out by the:
Ans A sole plate
X B. pressure plate
X C. power plate
X D. heel plate
Question ID : 630680417881
Option 1 ID : 6306801630270
Option 2 ID : 6306801630269
Option 3 ID : 6306801630268
Option 4 ID : 6306801630267
Status : Answered
Chosen Option : A
Q.49 Which of the following types of transformer is most suitable to be used as a servo-line voltage corrector?
Ans X A Current transformer
« B. Auto transformer
X C. Potential transformer
X D. Isolation transformer
Question ID : 630680417907
Option 1 ID : 6306801630372
Option 2 ID : 6306801630371
Option 3 ID : 6306801630374
Option 4 ID : 6306801630373
Status : Answered
Chosen Option : B
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Q.50
Identify the type of the saw shown in the above image.
Ans X A Dovetail saw
X B. Bow saw
X . Coping saw
« D. Compass saw
Question ID : 630680417805
Option 1 ID : 6306801629966
Option 2 ID : 6306801629963
Option 3 ID : 6306801629964
Option 4 ID : 6306801629965
Status : Answered
Chosen Option : B
Q51 Which of the following MCBs use(s) a bimetallic element?
Ans X A Thermal magnetic MCB and magnetic hydraulic MCB
X B. Magnetic hydraulic MCB and Assisted bimetallic MCB
X C. Assisted bimetallic MCB only
« D. Assisted bimetallic MCB and thermal magnetic MCB
Question ID : 630680417930
Option 1 ID : 6306801630465
Option 2 ID : 6306801630466
Option 3 ID : 6306801630463
Option 4 ID : 6306801630464
Status : Answered
Chosen Option : D
Q52 Which of the following materials can be used as a cutting tool?
Ans X A Bell metal
+ B. Ceramic
X C. Constantan
X D. Monel metal
Question ID : 630680417803
Option 1 ID : 6306801629955
Option 2 ID : 6306801629956
Option 3 ID : 6306801629957
Option 4 ID : 6306801629958
Status : Answered
Chosen Option : D
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Q.53 How does the lightning arrester protect the electrical equipment from lightning?
Ans X A
The arrester diverts a high-voltage wave of lightning to the air.
X B.
The arrester diverts a high-voltage wave of lightning to the superconductor.
« C.
The arrester diverts a high-voltage wave of lightning to the ground.

X D.
The arrester diverts a high-voltage wave of lightning to the support pole.

Question ID : 630680417935
Option 1 ID : 6306801630483
Option 2 ID : 6306801630485
Option 3 ID : 6306801630486
Option 4 ID : 6306801630484
Status : Answered
Chosen Option: C

Q.54 A 3-phase, 6-pole, star-connected induction motor of 10 hp, 240 V and 50 Hz delivers 15 KW at 4% slip. Calculate the
speed of the rotor.

Ans A 960 RPM
X B. 920 RPM
X C. 940 RPM
X D. 980 RPM

Question ID : 630680417926
Option 1 ID : 6306801630449
Option 2 ID : 6306801630447
Option 3 ID : 6306801630448
Option 4 ID : 6306801630450
Status : Answered
Chosen Option : A

Q.55 The range of an ammeter is | mA. The range is to be extended to 10 mA. Calculate the shunt value if the moving coil
has resistance of 27 Q.

Ans XA 03Q
B 30
Xc 130
XD 330

Question ID : 630680417913
Option 1 ID : 6306801630395
Option 2 ID : 6306801630397
Option 3 ID : 6306801630396
Option 4 ID : 6306801630398
Status : Answered
Chosen Option : B
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Q.56 Which of the following statements is FALSE about the universal motor?

Ans X A. Both the stator field and the armature are laminated.
X B. High-resistance brushes are used.
X €. When fed with a DC supply, it works as a DC series motor.
o D.
The armature winding and the field winding are connected in parallel.
Question ID : 630680417921
Option 1 ID : 6306801630427
Option 2 ID : 6306801630428
Option 3 ID : 6306801630430
Option 4 ID : 6306801630429
Status : Answered
Chosen Option : D
Q.57 R2=20
WA
Ri=40 R3=10
EISZBVT .I. E2=14V
Calculate the current in the given circuit.
Ans X A 3A
XB 4A
+C 2A
XD 6A
Question ID : 630680417873
Option 1 ID : 6306801630236
Option 2 ID : 6306801630237
Option 3 ID : 6306801630235
Option 4 ID : 6306801630238
Status : Answered
Chosen Option : C
Q.58 When electrons flow in one second across any cross-section of any conductor, the current in it is one ampere.
Ans XA 1.6 x 1073
¥B 624 x 10®
XC 624 x 10%3
XD 16 x 10%°
Question ID : 630680417811
Option 1 ID : 6306801629988
Option 2 ID : 6306801629989
Option 3 ID : 6306801629990
Option 4 ID : 6306801629987
Status : Answered
Chosen Option : B
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Q.59 All the ceiling fans in a domestic wiring system shall be hung at NOT less than __ above the floor.
Ans @A 275m

XB 25m

XC 225m

XD 3m

Question ID : 630680417891
Option 11D : 6306801630309
Option 2 ID : 6306801630308

Option 31D :
Option 4 ID :
Status :

6306801630307
6306801630310
Answered

Chosen Option : A

Q60 wwhich of the following insulators is made of fibrous materials?

Ans X A. Porcelain

« B. Paraffin
«+ C. Asbestos
# D. Bakelite

Question ID : 630680417828
Option 1 ID : 6306801630058
Option 2 ID : 6306801630057
Option 3 ID : 6306801630055
Option 4 ID : 6306801630056
Status : Answered
Chosen Option: C

Q.61 Insome energy meters, the disk rotates continuously even when there is no current flowing through the current coil.
This is called:

Ans X A damping error

« B. creeping error
X C. staggering error

X D. sludge error

Question ID : 630680417911

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801630388
6306801630387
6306801630389
6306801630390
Answered

B
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Q.62 Identify whether the following statements are true or false regarding moving iron instruments.
Statement 1. They have a small value of friction errors as the torque-to-weight ratio is high.

Ans X A. Both the statements are false.

X B. Only Statement 2 is true.
+ C. Only Statement | is true.

X D. Both the statements are true.

Statement 2. They have no error due to hysteresis. frequency changes and wave-form and stray magnetic fields.

Question ID : 630680417846
Option 11D : 6306801630128
Option 2 ID : 6306801630130
Option 3 ID : 6306801630129
Option 4 ID : 6306801630127
Status : Answered
Chosen Option : A
Q63 Ope coulomb of charge is equal to:
A
s XA 6.25 = 1023 electrons
X B. 6.25 = 10° electrons
X C 6.25 * 102 electrons
+D. .25 * 10%® electrons
Question ID : 630680417836
Option 1 1D : 6306801630090
Option 2 ID : 6306801630087
Option 3 ID : 6306801630088
Option 4 ID : 6306801630089
Status : Answered
Chosen Option : D
Q.64 The equation e = 7Ndd—i’ is derived from , where e = Induced EMF, d§ = Change in magnetic flux and
N = Number of turns in coil.
Ans XA Maxwell’s law
« B. Lenz's law
X C. Newton's law
X D. the Biot—Savart law
Question ID : 630680417860
Option 11D : 6306801630184
Option 2 ID : 6306801630185
Option 3 ID : 6306801630186
Option 4 ID : 6306801630183
Status : Answered
Chosen Option : B
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Q.65 According to Faraday’s second law of electrolysis, when the same quantity of electricity is passed through different

electrolytes, the quantities of elements liberated at different electrodes are their electrochemical equivalent.
Ans X A inversely proportional to
« B. directly proportional to
X C. inversely proportional to square of
X D. directly proportional to square of
Question ID : 630680417850
Option 1 ID : 6306801630145
Option 2 ID : 6306801630143
Option 3 ID : 6306801630146
Option 4 ID : 6306801630144
Status : Answered
Chosen Option : B
Q.66

What is the unit of specific resistance?
Ans & A Ohm metre
A B. Admittance

X C. Siemens
X D. Ohm

Question ID : 630680417813
Option 1 ID : 6306801629996
Option 2 ID : 6306801629998
Option 3 ID : 6306801629997
Option 4 ID : 6306801629995
Status : Answered
Chosen Option : A

Q.67

P
A ATA A —{‘,

r

+ E .
il
Which method is employed in the circuit shown above to determine the value of the unknown resistance ‘R’?

Ans X A Loss of charge method

X B. Ohmmeter method
+ C. Substitution method

& D. Potentiometer method

Question ID : 630680417877
Option 1 ID : 6306801630251
Option 2 ID : 6306801630252
Option 3 ID : 6306801630254
Option 4 ID : 6306801630253
Status : Not Answered
Chosen Option : --
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Q.68 A transformer of 100 kVA, 4440/444 V. 50 Hz has 100 turns on the secondary winding. Calculate the maximum flux
((py,) in the core.

Ans X A 0.0125 Weber
X B. 0.04 Weber
X C. 0.0036 Weber
+ D. (.02 Weber

Question ID : 630680417904
Option 1 ID : 6306801630360
Option 2 ID : 6306801630362
Option 3 ID : 6306801630359
Option 4 ID : 6306801630361
Status : Not Answered
Chosen Option : --

Q69 YWhat will happen if a thermostat of a geyser is set to too low?

Ans o A Less hot water
X B. Steam in hot water
X C. High power consumption

X D. Repeated blowing of the fuse

Question ID : 630680417878
Option 1 ID : 6306801630258
Option 2 ID : 6306801630256
Option 3 ID : 6306801630255
Option 4 ID : 6306801630257
Status : Answered
Chosen Option : A

Q70 wWhich of the following is another name of halogen lamp?

Ans A Quartz iodine lamp
X B. Tungsten-iodine lamp
X C. Nichrome-iodine lamp

X D. Opaque iodine lamp

Question ID : 630680417914
Option 1 ID : 6306801630402
Option 2 ID : 6306801630401
Option 3 ID : 6306801630399
Option 4 ID : 6306801630400
Status : Answered
Chosen Option : B
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Q.71 RN

-

-limayy
The region of the p-n junction diode marked in the V-I characteristics as shown above is:

Ans X A reverse breakdown voltage

X B. forward current

+ C. leakage current

X D. forward breakdown voltage

Question ID : 630680417938
Option 1 ID : 6306801630498
Option 2 ID : 6306801630495
Option 3 ID : 6306801630496
Option 4 ID : 6306801630497
Status : Answered
Chosen Option : C

Q.72 Which of the following statements is FAL SE about the distribution board type of wiring?

Ans X A All the loads are connected across the same voltage.

X B. It is costlier than other wiring systems.
X c. It requires skilled labour.

+ D. Fault locating is not easy.

Question ID : 630680417889
Option 1 ID : 6306801630299
Option 2 ID : 6306801630302
Option 3 ID : 6306801630301
Option 4 ID : 6306801630300
Status : Answered
Chosen Option : B
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Q.73 Which of the following is the true representation of the triangle of Ohm’s law?

Ans
v
o A
I R
R
X< B.
| v
|
x C.
R
I
X D.
R Vv

Question ID : 630680417837
Option 1 ID : 6306801630093
Option 2 ID : 6306801630092
Option 3 ID : 6306801630094
Option 4 ID : 6306801630091
Status : Answered
Chosen Option : A

Q.74 Continuous movement of the electric charge through conductors of a circuit is called:
Ans XA coulomb
« B. current
X C. voltage

X D. power

Question ID : 630680417835
Option 11D : 6306801630086
Option 2 ID : 6306801630084
Option 3 ID : 6306801630083
Option 4 ID : 6306801630085
Status : Answered
Chosen Option : B
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Q.75 Which of the following is NOT one of the requirements of a good insulating material?
Ans X A Little deterioration with the rise in temperature
« B. Low dielectric strength

X C. Non-absorption of moisture

X D. High specific resistance

Question ID : 630680417814
Option 11D : 6306801630001
Option 2 ID : 6306801630000
Option 3 ID : 6306801630002
Option 4 ID : 6306801629999
Status : Answered
Chosen Option : B

Q.76 Which of the following amplifier uses two complementary transistor, either bipolar of FET for each half of the
waveform, with its output stage configured in a push-pull type arrangement?

Ans

+ A Class B amplifier
X B. Class C amplifier

< C. Class A amplifier
X D. Class AB amplifier

Question ID : 630680417940
Option 1 ID : 6306801630504
Option 2 ID : 6306801630506
Option 3 ID : 6306801630503
Option 4 ID : 6306801630505
Status : Answered
Chosen Option : A

Q.77 1dentify whether the following statements are true or false about the motor-generator set.

Statement 1. It is used to remove transients in power supply.

Statement 2. It gives a smooth power cut from the main supply.
Ans X A Only Statement 2 is true.
X B. Only Statement 1 is true.

+ C. Both the statements are true.
X D. Both the statements are false.

Question ID : 630680417928
Option 11D : 6306801630458
Option 2 ID : 6306801630457
Option 3 ID : 6306801630455
Option 4 ID : 6306801630456
Status : Answered
Chosen Option : A
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Q.78 Which of the following, when added with silicon, will form a P-type semiconductor?

Ans X A. Phosphorous
X B. Antimony

« C. Alumininm
X D. Arsenic

Question ID : 630680417936
Option 1 ID : 6306801630490
Option 2 ID : 6306801630489
Option 3 ID : 6306801630487
Option 4 ID : 6306801630488
Status : Answered
Chosen Option : C

Q79 The scale in the moving iron power factor meter can be extended to:
Ans X A 330°

+ B. 360°

X C. 300°

X D. 270°

Question ID : 630680417912
Option 11D : 6306801630393
Option 2 ID : 6306801630394
Option 3 ID : 6306801630392
Option 4 ID : 6306801630391
Status : Answered
Chosen Option : D

Q.80 The resistance of a wire is 5 Q) at 50°C and 6 Q at 100°C. What will be the resistance of the wire at 0°C?

Ans X A 350
XB 475Q
XC 4250
+D. 40

Question ID : 630680417872

Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801630231
6306801630234
6306801630233
6306801630232
Answered

D
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Q.81 The depletion layer of a Germanium p-n junction at room temperature is:
Ans XA 02V1t0025V

XB 05Vto06V

+C 03Vto035V

XD 06Vto0.7V

Question ID : 630680417937
Option 1 ID : 6306801630491
Option 2 ID : 6306801630493
Option 3 ID : 6306801630492
Option 4 ID : 6306801630494
Status : Answered
Chosen Option : C

Q82 Tdentify the major components of a single-phase half-bridge inverter.
Ans X A
Two control switches, two feedback diodes and one capacitor

X B.
One control switch, two feedback diodes and two capacitors

& C
Two control switches, two feedback diodes and two capacitors

X D. One control switch, two feedback diodes and one capacitor

Question ID : 630680417945
Option 1 ID : 6306801630525
Option 2 ID : 6306801630524
Option 3 ID : 6306801630526
Option 4 ID : 6306801630523
Status : Not Answered
Chosen Option : --

Q.83

The above symbol represents a/an:
Ans o/ A attenuator

X B. potentiometer

X C. trimmer resistance

A D. thermistor

Question ID : 630680417868
Option 1 ID : 6306801630215
Option 2 ID : 6306801630216
Option 3 ID : 6306801630218
Option 4 ID : 6306801630217
Status : Not Answered
Chosen Option : --

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/16994380296565834/2. .. 65/89



11/23/23, 2:23 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/1699438029. ..

Ans X' A. control coil

X B. weigh coil

X C. ballast coil
« D. shading coil

Q.84 A coil placed near the tip of a magnet pole face to eliminate chatter in the magnetic relay is known as:

Question ID : 630680417932
Option 1 ID : 6306801630472
Option 2 ID : 6306801630474
Option 3 ID : 6306801630471
Option 4 ID : 6306801630473
Status : Not Answered
Chosen Option : --
Q.85 Two resistances of 20 Q and 30 Q are connected in parallel. What will be the effective resistance?
Ans X A 600 Q
XB 500
XC 250
«D. 120
Question ID : 630680417816
Option 1 ID : 6306801630010
Option 2 ID : 6306801630009
Option 3 ID : 6306801630008
Option 4 ID : 6306801630007
Status : Answered
Chosen Option : D
Q.86 An MMF of 10 AT creates a magnetic flux in a circuit whose reluctance is 5 A/W. What is the strength
of the magnetic flux?
Ans XA 0.25 Weber
X B. 20 Weber
X C. 0.5 Weber
+ D. 2 Weber
Question ID : 630680417861
Option 1 ID : 6306801630187
Option 2 ID : 6306801630190
Option 3 ID : 6306801630188
Option 4 ID : 6306801630189
Status : Answered
Chosen Option : D
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Q.87 Which of the following instructions is INCORRECT if an individual comes in contact with a live electrical conductor?

Ans X' A Do not touch the cord.

X B. Do not touch the equipment.
X C. Do not touch the person.

+ D. Do not disconnect the power source.

Question ID : 630680417797
Option 1 ID : 6306801629932
Option 2 ID : 6306801629931
Option 3 ID : 6306801629933
Option 4 ID : 6306801629934
Status : Answered
Chosen Option : D

Q.88 Four cells are connected in parallel in a battery. Each cell has a rating of 1.5 V and 8 Ah. The voltage and the ampere-
hour rating of this battery will be and . respectively.

Ans X' A 1.5V:8Ah
¥B 1.5V:32Ah
XC 6V:8Ah
X D. 6V:32Ah

Question ID : 630680417854
Option 1 ID : 6306801630159
Option 2 ID : 6306801630161
Option 3 ID : 6306801630160
Option 4 ID : 6306801630162
Status : Answered
Chosen Option : B

Q.89 A positive charge of 1 Cis at a distance of 1 cm from another positive charge of 1 C. Calculate the force between the
two charges.

Ans XA 899 + 105N
X B 899 x 1011 N
¥C 899 + 103N
XD 899 » 10°N

Question ID : 630680417866
Option 1 ID : 6306801630207

Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

6306801630209
6306801630210
6306801630208
Answered

(o]
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Q.90 The voltage and the current for an AC load are given as V and I, respectively. What will be the reactive power if their
phase difference is 87

Ans X A VI sech
X B. VI tanb
+ C. VIsinb
X D. VI cos8

Question ID : 630680417902
Option 1 ID : 6306801630354
Option 2 ID : 6306801630353
Option 3 ID : 6306801630352
Option 4 ID : 6306801630351
Status : Answered
Chosen Option: C

Q.91 Which of the following statements is FATSE about the motor-generator (MG) set?
Ans X A The system is noisy.

X B. Losses are more.

« C. It has very high efficiency.

X D. It requires regular maintenance.

Question ID : 630680417927
Option 1 ID : 6306801630452
Option 2 ID : 6306801630451
Option 3 ID : 6306801630454
Option 4 ID : 6306801630453
Status : Answered
Chosen Option : C

Q92 WWhat is the electrical equivalent of Newton metre, a mechanical unit?
Ans X A Watt/second
+ B. Watt second

& C. Watt hour
X D. Watt

Question ID : 630680417822

Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801630032
6306801630033
6306801630034
6306801630031
Answered

B
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Q.93 Which of the following DC motors is suitable when a constant speed and medium torque are applied with speed
regulation of 5% to 15%?

Ans X A DC differential compound motor
X B. DC cumulative compound motor
X C. DC series motor
+ D. DC shunt motor
Question ID : 630680417888
Option 11D : 6306801630298
Option 2 ID : 6306801630297
Option 3 D : 6306801630295
Option 4 ID : 6306801630296
Status : Answered
Chosen Option : D
Q.94

How are output characteristics of the JFET drawn?
Ans Al

Output characteristics of the JFET are drawn between drain current (Ip) and drain source voltage (Vpg) at a constant
gate source voltage (Vi)

X B.
Output characteristics of the JFET are drawn between drain current (Ig) and drain source voltage (V;g) at a constant
gate source voltage (Vpg)

X c.
Output characteristics of the JFET are drawn between drain current (Ig) and drain source voltage (Vpg) at a constant
gate source voltage (Vgg)

X D.
Output characteristics of the JFET are drawn between drain current (In) and drain source voltage (Vgg) at a constant
gate source voltage (Vpg)

Question ID : 630680417942
Option 1 ID : 6306801630513
Option 2 ID : 6306801630514
Option 3 ID : 6306801630511
Option 4 ID : 6306801630512
Status : Answered
Chosen Option : A

Q.95 When the battery is charged at a very low rate, that is, 2% to 3% of the normal rate for a long period, it is called:

Ans X A initial charge

X B. boost charge
« C. trickle charge

X D. freshening charge

Question ID : 630680417855
Option 1 ID : 6306801630165
Option 2 ID : 6306801630163
Option 3 ID : 6306801630166
Option 4 ID : 6306801630164
Status : Answered
Chosen Option : C
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Q.96 The amount of charge ‘Q’ stored by a capacitor of capacitance ‘C’ when voltage “V" is applied to it is given by:

Ans —E
XA Q—“r
o
X B. Q_c
#C Q=CV
XD.Q=%CV2

Question ID : 630680417863
Option 1 ID : 6306801630197
Option 2 ID : 6306801630198
Option 3 ID : 6306801630195
Option 4 ID : 6306801630196
Status : Answered
Chosen Option : C

Q.97 A d4-pole generator with a simplex wave wound armature has 43 slots, with each slot containing 20 conductors. What
will be the voltage generated in the machine when driven at the speed of 1300 RPM. assuming the flux per pole to be 6
mwb?

Ans @A 234V
XB 216V
Xc 312V
XD 276V

Question ID : 630680417886
Option 1 ID : 6306801630288
Option 2 ID : 6306801630287
Option 3 ID : 6306801630290
Option 4 ID : 6306801630289
Status : Answered
Chosen Option : A
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Q.98

Y

E
+i I-_
The value of the unknown resistance ‘R’ in the bridge shown above can be determined by:

Ans

XA R=E
P

-y

X B. R_QS
PS

c. R=—
v Q
< D. R=?

Question ID : 630680417876
Option 1 ID : 6306801630248
Option 2 ID : 6306801630250
Option 3 ID : 6306801630247
Option 4 ID : 6306801630249
Status : Answered
Chosen Option: C

Q99 The heating element of an electric kettle is made of a:

Ans X A. molybdenum ribbon

X B. ferrochrome ribbon
« C. nichrome ribbon

X D. tungsten ribbon

Question ID : 630680417882
Option 1 ID : 6306801630272
Option 2 ID : 6306801630271
Option 31D : 6306801630273
Option 4 ID : 6306801630274
Status : Answered
Chosen Option: C

Q100 ywhich of the following is the larger unit of Coulomb?
Ans X A Volt hour

< B. Volt metre

X C. Ampere metre

+ D. Ampere hour

Question ID : 630680417812
Option 1 ID : 6306801629994
Option 2 ID : 6306801629993
Option 3 ID : 6306801629991
Option 4 ID : 6306801629992
Status : Answered
Chosen Option : D
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Q101 \Which of the following CANNOT be an electrolyte?
Ans XA Salt water

« B. Organic oil

X C. Acidic solution

& D. Basic solution

Question ID : 630680417849
Option 1 ID : 6306801630142
Option 2 ID : 6306801630141
Option 3 ID : 6306801630139
Option 4 ID : 6306801630140
Status : Answered
Chosen Option : B

Q102 The direction of dynamically induced EMF can be identified by:
Ans X A Faraday’s second law of electromagnetic induction
« B. Fleming’s right-hand rule

X c. Faraday’s first law of electromagnetic induction

X D. Fleming’s left-hand rule

Question ID : 630680417823
Option 11D : 6306801630038
Option 2 ID : 6306801630035
Option 3 ID : 6306801630037
Option 4 ID : 6306801630036
Status : Answered
Chosen Option : B

Q.103 What are the biasing states of a silicon-controlled rectifier in the reverse blocking state?
Ans XA J, and ], are forward biased and ], is reverse biased
« B. [, and J; are reverse biased and [, is forward biased
X C. J; and [, are forward biased and J; is reverse biased

X D. J, and [, are reverse biased and J; is forward biased

Question ID : 630680417944
Option 1 ID : 6306801630519
Option 2 ID : 6306801630521
Option 3 ID : 6306801630520
Option 4 ID : 6306801630522
Status : Answered
Chosen Option : B
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Ans A Mechanical strength
X B. Eddy current loss

X C. Harmonics
X D. Copper quantity

Q.104 Which of the following is NOT reduced by a short-pitch winding compared to a full-pitch winding?

Question ID : 630680417908
Option 1 ID : 6306801630377
Option 2 ID : 6306801630376
Option 3 ID : 6306801630378
Option 4 ID : 6306801630375
Status : Answered
Chosen Option : B
Q.105 A kit-kat type fuse consists of a/an base with two fixed contacts for connecting the incoming
and outgoing cables.
Ans X A ceramic
« B. porcelain
X C. ebonite
X D. Bakelite
Question ID : 630680417841
Option 1 ID : 6306801630108
Option 2 1D : 6306801630110
Option 3 ID : 6306801630109
Option 4 ID : 6306801630107
Status : Answered
Chosen Option : B
Q.106 Which of the following is one of the areas where universal motors are used?
Ans X A Reciprocating pumps
+ B. Vacuum cleaners
X C. Rolling mills
X D. Washing machines
Question ID : 630680417922
Option 11D : 6306801630431
Option 2 ID : 6306801630433
Option 3 ID : 6306801630432
Option 4 ID : 6306801630434
Status : Answered
Chosen Option : B
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Q.107 Which of the following statements is FALSE about the dvnamometer type instrument?

Ans X A It has better accuracy.

+ B. It has a high torque-to-weight ratio.
X C. Hysteresis and eddy current losses are eliminated.

X D. It can be used in both AC and DC power systems.

Question ID : 630680417910
Option 1 ID : 6306801630383
Option 2 ID : 6306801630384
Option 3 ID : 6306801630386
Option 4 ID : 6306801630385
Status : Answered
Chosen Option : B

Q.108 Which of the following techniques is used in washing machines, wherein a microprocessor is employed for their
programming and decisions about the type of washing to be used are made depending upon the type of fabric and the
extent of dirt?

Ans

« A Neuro fuzzy logic technique
X B. Chaos punch wash technique
X C. Air power wash technique
X D. Waterfall technique

Question ID : 630680417879
Option 11D : 6306801630261
Option 2 ID : 6306801630260
Option 3 ID : 6306801630259
Option 4 ID : 6306801630262
Status : Not Answered
Chosen Option : --

Q.109 If the applied supply is 230 V at 50 Hz, what will be the resistance from the hands to the feet for most of the population?

Ans & A 1000 Q to 2500 Q
X B 10Qto 100 Q
X C. 500 Qto 1000 Q
X D. 50 Q to 500 Q

Question ID : 630680417798
Option 1 ID : 6306801629938
Option 2 ID : 6306801629935
Option 3 ID : 6306801629937
Option 4 ID : 6306801629936
Status : Answered
Chosen Option : D
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Q.110 The phenomenon of lagging of the magnetic flux density behind the magnetising force in a magnetic material subjected
to the cycle of magnetisation is called:

Ans A magnetic hysteresis
X B. magnetic coercivity
X C. magnetic susceptibility

# D. magneftic eddy current

Question ID : 630680417858
Option 11D : 6306801630175
Option 2 ID : 6306801630178
Option 3 ID : 6306801630177
Option 4 ID : 6306801630176
Status : Answered
Chosen Option : A
Q11 Which of the following is NOT one of the 5 E’s for accident prevention?
Ans A Empowerment
X B. Enforcement
X C. Education
X D. Evaluation
Question ID : 630680417799
Option 1 ID : 6306801629940
Option 2 ID : 6306801629941
Option 3 ID : 6306801629939
Option 4 ID : 6306801629942
Status : Answered
Chosen Option : A
Q112 o faega @ 5 1000 W, 240V 3T &1 1 kg o & 20°C & F=w=is (100°C) 7% ot & 7
f=E 30 ¥es & FRT aear g1 fagga dew 1 gear eifa &3
Ans g A 74%
X B. 9%
X C 78%
X D. 64%
Question ID : 630680417883
Option 11D : 6306801630277
Option 2 ID : 6306801630276
Option 3 ID : 6306801630278
Option 4 ID : 6306801630275
Status : Not Answered
Chosen Option : --

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/16994380296565834/2. ..

75/89



11/23/23, 2:23 PM

cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S9D626/1699438029. ..

Ans

SireT ST =fEe?

v A TTHA AT FH H

X B FHAAGR FH &

X o FATT yIar % Ay Sl mF F
x o. Tl gaar & @y At FA A

Q113 2r =it et verddr (LED) & v 4= & o varddr (LED) womé = ¥1 3% v s ¥ 5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417920
6306801630426
6306801630425
6306801630423
6306801630424
Not Answered

Q.114 Find the total power if four heaters of 1000 W, 200 V are connected in series across a 240 V supply.

Ans @A 360 W
X B. 4000 W
X C. 2000W
X D. 1000 W
Question ID : 630680417820
Option 1 D : 6306801630023
Option 2 ID : 6306801630026
Option 3 ID : 6306801630025
Option 4 ID : 6306801630024
Status : Answered
Chosen Option : A
Q15 YWhat does the sign of a lightning bolt or a bolt through a hand indicate?
Ans X A Presence of a live electrical wire nearby
X B. Presence of an arrester barrier nearby
« C. Presence of a high-voltage electrical equipment nearby
X D. Presence of an earthing point nearby
Question ID : 630680417801
Option 1 D : 6306801629949
Option 2 ID : 6306801629950
Option 3 ID : 6306801629948
Option 4 ID : 6306801629947
Status : Answered
Chosen Option : A
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Q.116 Which of the following types of filter is used to prevent moisture from entering the transformer oil?

Ans X A Gramular bed filter
# B. Bacon endure filter
+ C. Silica gel filter

X D. Synthetic fibre filter

Question ID : 630680417827
Option 11D : 6306801630052
Option 2 ID : 6306801630051
Option 3 ID : 6306801630053
Option 4 ID : 6306801630054
Status : Answered
Chosen Option : C

Q.117 A meter of | mA has coil resistance of 100 Q. What will be the value of a multiplier resistor needed to measure 10 V?

Ans XA 1.1kQ
X B 990 Q
¥ C. 9.9kQ
XD 11kQ

Question ID : 630680417909
Option 11D : 6306801630380
Option 2 ID : 6306801630379
Option 3 1D : 6306801630381
Option 4 ID : 6306801630382
Status : Answered
Chosen Option : C

Q118 ¥f%ar 3fr (paring chisel) 1 @R (firmer chisel) ¥ & RafT BT smar ¥2

At XA AT Al A, 0 ¥ o smEaElr AR A
X B.
e O H o F IS F AT & g3t B Sar §
« C.
e T H o 3T HTHEGI W ST °§7 99T oS g gl

X D.
e o= H =0F BT § S @WE H oerseT SR gar gl

Question ID : 630680417806
Option 11D : 6306801629970
Option 2 ID : 6306801629968
Option 3 ID : 6306801629967
Option 4 ID : 6306801629969
Status : Not Answered
Chosen Option : --
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ate - '
4+
6V —
Determine the voltage across the resistance of 2 €2 shown in the above diagram.
Ans XA 1V
B 4V
XC oV
KD 2V
Question ID : 630680417839
Option 11D : 6306801630099
Option 2 ID : 6306801630101
Option 3 ID : 6306801630102
Option 4 ID : 6306801630100
Status : Answered
Chosen Option : B
Q120 The horizontal run is marked:
Ans X A by using either a water level or a plumb bob
« B. by using either a spirit level or a water level
X C. by using either a spirit level or a plumb bob
X D. by using either a plumb bob or a tri-square
Question ID : 630680417892
Option 11D : 6306801630313
Option 21D : 6306801630311
Option 3 ID : 6306801630312
Option 4 ID : 6306801630314
Status : Answered
Chosen Option : A
Q.121 The multivibrator which switches continuously between two states, with this action producing a train of square-wave
pulses at a fixed known frequency. is called:
Ans X A monostable multivibrator
X B. bi-stable multivibrator
+ C. astable multivibrator
X D. meta-stable multivibrator
Question ID : 630680417941
Option 1 ID : 6306801630510
Option 2 ID : 6306801630508
Option 3 ID : 6306801630507
Option 4 ID : 6306801630509
Status : Answered
Chosen Option: C
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Find the line current.

Q.122 A balanced delta-connected load of (§ + j6) ohms per phase is connected to a 3-phase supply of 230 V.

Ans X A 32 A
XB. 2624 A
« C 3983 A
XD 23A
Question ID : 630680417900
Option 11D : 6306801630345
Option 2 ID : 6306801630344
Option 3 ID : 6306801630346
Option 4 ID : 6306801630343
Status : Answered
Chosen Option : C
Q.123 500 Vv #r 4-y7 DC T Fsfom HieX F FER W 600 JF-F=iwes == &1 [-eis 7R o=’y 50 A
¥ 3 #frEe 9fe 4= 0.02 39T &1 #or @9F R W 9oy 0.4 0 ¥ AT F U T &=
qieRere i
Ans XA 900 RPM
X B. 1050 RPM
+ C. 1200 RPM
X Db 750 RPM
Question ID : 630680417887
Option 1 ID : 6306801630292
Option 2 ID : 6306801630293
Option 3 ID : 6306801630294
Option 4 ID : 6306801630291
Status : Answered
Chosen Option : C
Q.124
Which part shown in the given image of a Warrington hammer is known as ‘wedge’?
Ans X A C
XB D
¥C A
XD B
Question ID : 630680417808
Option 1 ID : 6306801629977
Option 2 ID : 6306801629978
Option 3 ID : 6306801629975
Option 4 ID : 6306801629976
Status : Answered
Chosen Option: C
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Q.125 If 110 mg of silver is deposited on the cathode in 3 minutes and 20 seconds by 0.5 A of a DC current, calculate the ECE
of silver.

Ans X A 0.75 mg/C
X B. 3.5mg/C
X c 8.1mgC
¥ D. 1.1 mg/C

Question ID : 630680417851
Option 1 ID : 6306801630147
Option 2 1D : 6306801630149
Option 31D : 6306801630150
Option 4 ID : 6306801630148
Status : Answered
Chosen Option : D

Q.126 What is the formula to find the rupturing capacity (in MVA) for cartridge fuses with high rupturing capacity?

Ans X A Circuit current in amperes X Fault voltage in volts
103
X B. Circuit currentin amperes X Fault voltage in volts
10¢
X c. Fault current in amperes X Circuit voltage in volts
103
o Fault current in amperes X Circuit voltage in volts
10¢

Question ID : 630680417931
Option 1 ID : 6306801630468
Option 2 ID : 6306801630470
Option 3 ID : 6306801630467
Option 4 ID : 6306801630469
Status : Answered
Chosen Option : D

Q127 A 60 W light bulb usually produces 900 lumens. Calculate the luminous efficiency.
Ans & A 15 Lumen/Watt

A B. 12.5 Lumen/Watt

X C. 7.5 Lumen/Watt

A D. 30 Lumen/Watt

Question ID : 630680417915
Option 1 ID : 6306801630405
Option 2 ID : 6306801630404
Option 3 1D : 6306801630403
Option 4 ID : 6306801630406
Status : Answered
Chosen Option : A
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Q.128 The instantaneous voltage applied to a series RC circuit is V=V, sinot. What will be the instantaneous current?
Ans X A L, sin(—ot)

B L, sin(et + 6)

X ¢ L, sinwt

X D. L, sin(wt —8)

Question ID : 630680417898
Option 1 ID : 6306801630336
Option 2 ID : 6306801630338
Option 3 ID : 6306801630335
Option 4 ID : 6306801630337
Status : Answered
Chosen Option : B

Q.129 cCalculate the power rating of a lamp in a circuit if 0.4 A of current flows when the applied voltage is 250 V.

Ans X A 625W
XB 250 W
«+ C. 100 W
X D. 60 W

Question ID : 630680417818
Option 1 ID : 6306801630018
Option 2 ID : 6306801630017
Option 3 ID : 6306801630016
Option 4 ID : 6306801630015
Status : Answered
Chosen Option: C

Q.130 10 o g #T 0.1 H 9Thea Hr v FEan, 200 V, 50 Hz $r 3mafd & 150 pF & Tl & @ry
sofr 1 & 2 g5 ¥ AfET onE (T ) T IREew #

Ans o A D?
X8 0.64
Xc. 0.84
X 0. 0.81

Question ID : 630680417899
Option 1 ID : 6306801630340
Option 2 ID : 6306801630339
Option 3 ID : 6306801630342
Option 4 ID : 6306801630341
Status : Not Answered
Chosen Option : --
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Q.131 InaDC series generator, the external load resistance should be
be self-started.

Ans A less than

the critical field resistance for the generator to

X B. equal to
« C. more than
X D. double
Question ID : 630680417885
Option 1 1D : 6306801630283
Option 2 ID : 6306801630285
Option 3 ID : 6306801630284
Option 4 ID : 6306801630286
Status : Answered
Chosen Option : A
Q132 Which electrolyte is used in the Leclanché cell (carbon-zinc cell)?
Ans X A Dilute sulphuric acid
+ B Ammonium chloride
X ¢. Lithium hydrate
X D. Potassium hydroxide
Question ID : 630680417852
Option 1 1D : 6306801630152
Option 2 ID : 6306801630151
Option 3 ID : 6306801630154
Option 4 ID : 6306801630153
Status : Answered
Chosen Option : B
Q133 YWhich of the following flux groups for soldering is least active?
Ans X A Special fluxes
X B. Inorganic fluxes
+ C. Rosin fluxes
X D. Organic fluxes
Question ID : 630680417831
Option 1 1D : 6306801630070
Option 2 ID : 6306801630067
Option 3 ID : 6306801630069
Option 4 ID : 6306801630068
Status : Answered
Chosen Option : B
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Q.134 Which of the following can be the reason for a ceiling fan running at a low speed?
Ans A Defective or leaky capacitor
X B. Open regulator/switch/line
X C. Supply failure

X D. Open winding

Question ID : 630680417848
Option 1 ID : 6306801630138
Option 2 ID : 6306801630137
Option 3 ID : 6306801630135
Option 4 ID : 6306801630136
Status : Answered
Chosen Option : A

Q.135 If a fluorescent lamp of 40 W draws a current of 0.2 A, how much voltage will be required to illuminate it?

Ans XA ROV
¥B 200V
XC 320V
XD 160V

Question ID : 630680417821
Option 1 1D : 6306801630027
Option 2 ID : 6306801630029
Option 3 ID : 6306801630030
Option 4 ID : 6306801630028
Status : Answered
Chosen Option : B
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Q.136 Drain (D)

Substrate

Gate (G)

Source (S)
The MOSFET shown in the above image is a/an:
Ans XA N-channel enhancement-mode MOSFET
X B. P-channel enhancement-mode MOSFET
« C. N-channel depletion-mode MOSFET

X D. P-channel depletion-mode MOSFET

Question ID : 630680417943
Option 11D : 6306801630516
Option 2 ID : 6306801630518
Option 3 ID : 6306801630515
Option 4 ID : 6306801630517
Status : Answered
Chosen Option : C

Q.137 200 v 3iiT 500 W ¥ arer saifes 3meRa &1 200 V & HE F S A §1 3T AT 7
T T BT AT @ §1 S FH Fe & T 20 0 & gfae Suh &7 F Ser Sar g1 S gfe)er
TR et afFa i @oa Fd &7

Ans o A 80 w
XB 64 W
XcC 72 W

XD 45 W

Question ID : 630680417824
Option 11D : 6306801630042
Option 2 ID : 6306801630040
Option 3 ID : 6306801630041
Option 4 ID : 6306801630039
Status : Answered
Chosen Option : A
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Q.138 V.
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Find the voltage equation for the RC circuit shown above.
Ans @A V=W —Vc=0

XB V+Vg +Ve=0

XC V+Vg —Ve=0

XD V=Vg +Ve=0

Question ID : 630680417840
Option 1 ID : 6306801630103
Option 2 ID : 6306801630106
Option 3 ID : 6306801630105
Option 4 ID : 6306801630104
Status : Answered
Chosen Option : A

Q.139 The load on each power sub-circuit should normally be restricted to 3000 W in the domestic electrical wiring. What is
the maximum number of outlets permitted on each sub-circuit?

Ans X A Three
« B. Two
X C. Four
X D. Five

Question ID : 630680417890
Option 1 ID : 6306801630304
Option 2 ID : 6306801630303
Option 3 ID : 6306801630305
Option 4 ID : 6306801630306
Status : Answered
Chosen Option : B

Q.140 Two inductances of 8 H and 6 H are connected in such a way that they are aiding each other. What is the resultant
inductance if their mutual inductance is 5 H?

Ans XA 19H
¥B 24H
Xc 4H
XD 9H

Question ID : 630680417862
Option 1 ID : 6306801630193
Option 2 ID : 6306801630194
Option 3 ID : 6306801630191
Option 4 ID : 6306801630192
Status : Answered
Chosen Option : B
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Q141 The table fan motor is mostly a:
Ans X A single-phase universal motor
X B. single-phase synchronous motor
+ C. single-phase induction motor

X D. single-phase repulsion motor

Question ID : 630680417884
Option 1 ID : 6306801630281
Option 2 ID : 6306801630280
Option 3 ID : 6306801630279
Option 4 ID : 6306801630282
Status : Answered
Chosen Option: C
Q.142 When a load is connected across the secondary terminals of a transformer, the secondary current produces
demagnetising effect. Consequently. the flux and the EMF induced in the primary terminal are reduced slightly. Which
of the following laws is/are applied here?
Ans X A Ampere’s law
X B. Lorentz law
+ C. Lenz’s law
X D. Faraday’s laws of electromagnetic induction
Question ID : 630680417903
Option 1 ID : 6306801630355
Option 2 ID : 6306801630358
Option 3 ID : 6306801630357
Option 4 ID : 6306801630356
Status : Answered
Chosen Option: C
Q.143 A bulb takes a current of 0.4 A at a voltage of 3.6 V. Determine the resistance of the filament.
Ans X A 000
XB 1.44Q
+C 0Q
XD 144Q
Question ID : 630680417817
Option 1 ID : 6306801630011
Option 2 ID : 6306801630012
Option 3 ID : 6306801630013
Option 4 ID : 6306801630014
Status : Answered
Chosen Option : C
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Q.144 The alternating current passing through a circuit is denoted by i = 200 sin157t. What will be the time period?
Ans X A 0.02 seconds

& B. 0.01 seconds
+ C. (0.04 seconds
X D. 0.025 seconds

Option 1 ID

Question ID :

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417895

: 6306801630324
6306801630323
6306801630326
6306801630325
Answered

C

Q145 Rod electrodes of steel or galvanised iron used for earthing shall be at least:
Ans X A. 12.5 mm in diameter
X B. 8 mm in diameter

+ C. 16 mm in diameter

A D. 22.5 mm in diameter

Question ID : 630680417893

Option 1 ID : 6306801630316
Option 2 ID : 6306801630315
Option 3 ID : 6306801630317

Option 4 ID : 6306801630318
Status : Answered
Chosen Option : B
Q.146 Which of the following personal protective equipment must be worn by the electrician while re-sharpening
the screwdriver?
Ans X A. Nose mask
+ B. Protective goggles
X C. Safety jacket
X D. Safety shoes
Question ID : 630680417802
Option 1 ID : 6306801629953
Option 2 ID : 6306801629954
Option 3 ID : 6306801629952
Option 4 ID : 6306801629951
Status : Answered
Chosen Option : B
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Q.147 “What is the effect of the rise in temperature on the resistance of semiconductors?

Ans X A
The resistance will increase or decrease depending on the type of the semiconductor.

« B. The resistance will decrease.
X C. The resistance will increase.
X D. The resistance will remain the same.

Question ID : 630680417809
Option 1 ID : 6306801629979
Option 2 ID : 6306801629981
Option 3 ID : 6306801629980
Option 4 ID : 6306801629982
Status : Answered
Chosen Option : B

Q.148 The alternating current passing through a circuit is denoted by i = 141.4 sin314.2t. Calculate the RMS value
of the current.

Ans XA 200 A
+ B 100 A
XC 1414A
XD 90A

Question ID : 630680417897
Option 1 ID : 6306801630334
Option 2 ID : 6306801630332
Option 3 ID : 6306801630333
Option 4 ID : 6306801630331
Status : Answered
Chosen Option : B

Q.149 The power input to a 3-phase motor of 400 V, 50 Hz is measured by two wattmeters by using the two-wattmeter
method. The two wattmeters indicate 0 kW and 100 kW, respectively. Calculate the power factor.

Ans @A 0.5
XB 0
xXcC 1
X D. 0.866

Question ID : 630680417901
Option 1 ID : 6306801630348
Option 2 ID : 6306801630347
Option 3 ID : 6306801630350
Option 4 ID : 6306801630349
Status : Answered
Chosen Option : A
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Ans

Q150 ywhat js the turn ratio of isolation transformers?

A ]

X B. Greater than 10

X C. Less than 1

X D. Greater than 1 but less than 10

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680417905
6306801630364
6306801630366
6306801630363
6306801630365
Answered

A
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